


lecture 1

both semantics and pragmatics are concerned with people’s ability to use
language meaningfully .
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While semantics is mainly concerned with speakers competence to use the
language system,
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the chief focus of pragmatics is a person’s Ability to derive

meaning from specific kinds of speech situations
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i Said by a beggar who has not eaten all day
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. Said by a child who hopes to put off going to bed
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| Said by a man who wants to have lunch with his coworker

The 3 events obviously have something in common and yet, they
indicate different intentions and are liable to be interpreted differently because
the situations and the participants are different

adlide OV juadil A jo (4S5 4adlite Jalie (i ¢ (gl agin & jida Jale maaly A3 YIS g3a
((Jend) Jaay o) Jalall gl iall Lol a5 A Caneny aliaV1 ¥ 8 Calidl) aila L) Lgsdi alaal) aiaily)
utterance vs. sentence : alaall & H2SlI

an utterance is an event that happens just once , a sentence is a construction
of words in a particular meaningful sequence
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the meaning of a sentence is determined by the meanings of the individual
words and the syntactic construction in which they occur
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the meaning of an utterance is the meaning of the sentence plus the meaning
of the circumstances ;the time and place,the people involved ,(the physicalsocial context) e.g.,our

visit to the factory was wonderful
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our visit to the factory was wonderful
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Implicature 3s s zali
An additional meaning, of bridge constructed by the hearer to relate one
utterance to some previous utterance (unconsciously)

JGa

1) Barbara ;how did you do on the examination?

Adam; | think I'll just drop this course.
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Laura; we have guests coming from out of town.
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. prosody:a spoken utterance consists of more than just words

in speech, meanings are communicated not only by what is said but also

how it is said

2) Jim; would you like to go shopping tomorrow night?
A58 8yl dad)alKial) Gany S ) JIEE oS Ll (K15 Gapaal) b QU Ll i ud ISH 3 WSISH i 48yl ) o
i (ZJ;IAA;L\E\(M\

for example

A; Has the winston street bus come yet?

B; sorry i didn't understand . what did you say?

C; I'm afraid fred didn’t like the remark i made

D; oh? what did you say?

E; some of my partners said they wouldn't accept these terms
F; and you? what did you say?

G; you’re misquoting me. | didn't say anything like that

H: oh? what did you say?
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Non-verbal communication bl sl Jual 53l

there are some ways of using the voice including e.g.,laughing ,giggling , and
crying that are vocal but not verbal.
;M\M\d&uﬂ\@eMé#\uﬁhﬁ

These are called paralanguage 4 sl 439l &l L3 o

similarly , there are visible signs, gestures ,body language-which possibly
create an effect on the interoperation of a spoken message
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consider these visual signs: 4sal sl Gladall 538 (1
nodding the head in response to an utterance
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pretending to yawn ,with finger tips in front of mouth ‘ T
She e 5 dae 4laa O Al sy Jlall et GUiS 5 adll ol sa laslial puai SIS 5 (gLl \;\‘”7
holding up a thumb from a closed fist ‘
o Sa L Slailial 5 alga¥) cpmd 5 Glil f = 9

=
pinching one’s nose closed with thumb and forefinger ) j
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shoulders are moved upward and down again ,possibly repeated (shrugging

shoulders) ; ﬁ
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the palm of one hand is brought up and élai)s\smartly against the forehead {;;‘
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the hand ,slightly cupped ,is pulled across the forehead as if wiping
something away .
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lecture 2

semantic relations among words clalel) cp ahyal) i)
In every day talk, we frequently give the meanings of words, not in terms of their component
features, but in terms of their relationships E.g. the meaning of shallow is the opposite of deep
the word conceal is the same as hid and tulip is a kind of flower

Al G g S0y Ll 435Sl L aan 5l Lgallacas Cum (pa Gl L)) (e iany 5 iy aa o gy S

hid e &) conceal el s ¢ (4msSe 48le lia) (ue deep 4l LuSe g8 ¢ alau shallow 4elS Jls
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Examples of the lexical relations types are :
synonymy , antonymy , hyponymy,
homophony, homonymy, ane polysemy
DAzl QBN & g e Al

lzal ¢ uﬁ\)ﬂ\

Synonyms :are two or more forms with the very closely related meanings, which are often, but
not always, interchangeable in sentences .e.g. broad /wide, almost /nearly, cab/ taxi, youth
/adolescents, purchase /buy.
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There is no ‘total sameness’. one word could be appropriate in a sentence, but it synonym would
be odd ; Kathy had only one answer correct on the test
LG LBl e oy 5S g adeal) 8 Asulic Baal 5 AalS () K5 08 AL aa g Y
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synonym differ informality my father purchased a large automobile versus my dad

bought a big car
oS B s 8 sals | QB 6B S B 5l 5l (s 81 gl ¢ Asalad) sl jiall Calias SIS
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Two forms with opposite meanings are called antonyms, quick/slow, Rich/poor, old/young, alive
/dead, true/false

antonyms e Sxall (uSe gl abaill s JE ¢ il
(BB [ msaa PP Y PN e Je ) a g

gradable antonyms can be used in comparative constructions, e.g. bigger them/smaller
than.the negative of one member of the pair does not imply the other he is not old does not imply
he is young
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With non-degradable antonyms, the negative of one does indeed imply the other;
he is not dead means he is alive
AV el b se L ol G sl
(o pl oo Jadlly JUal) 8L 5 ) Alials oS8 Y Lia aplall ¢ Gy pl 3lall a8 e ad) ey Ua JUll (8 Ciay ol g8 JBa

reversives mean not negative but to do the reverse,
e.g., tieluntie, enter/exit, pack/ unpack, lengthen/shorten, raise/lower, dress/undress.
8 il Lo 5 AalK &all slina g ¢ (m sSas

s dia @a® untie my shoes |, s ds k) tie my shoes  tie/untie <8/ ), Jbs
o)) dil ) del el ish g e ome zoa [ dA

hyponymy means the meaning of form is included in the meaning of another,
e.g., tulipis a hyponymy of flour, dog/animal, chihuahua/dog, carrot/vegetable
e 48 (e p 5l AN JSE (e Gine e Jad 1 e g R ) Sl
G g si ooalle QSN el gl (e g gi geuidill, i) gaall e g o8 QST ¢ 9a 3 (e g gl ol o (el JAT)) gl JUe
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Not only words that can be hyponyms , verbs to
e.g., cut, punch, shoot, and stab are c- ohyponyms of the superordinate “injure
Qe JladY) G 5 lal<l) Jadé ol
injure Al A Caiiad JledY! 4’.5& qancce Anks ¢ T i ¢ tl:aﬂ s ey
(NS 57 5n slamh € o da clilal g 5 gl e ell J58 Claa @lil o iy ) gSall L caaliy bl Lavic)
superordinate “injure”

(Sl Sl )9 Ga ou3e 15 Jady o3 f) superordinate e injure Jxil oY

c- ohyponyms =i Jé¥l s3a | cut, punch, shoot, and stab

homophony, homonymy, and polysemy; (Flaall s

1 ,when two or more different written forms have the same pronunciation, they are
homophony (sawi agd hill (il Lgdg AUt 4dlida JiS) g) cpialS ()6 Ladie

3
e.g. meet/meat, flower/flour, pail /pale, so / sew, see/sea , bare /bear 4
(Bl 5 3551 (3las 4 o/ @IS e/ ol Akla /Gl cald /oy 2/ By c&f]/(nldlfm

2. when one form has two or more unrelated meanings, they are homonyms ,

6
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e.g., bank(of a river) — bank (financial institute),bat ( flying creature) - bat (used in sports), race
(contest of speed)— race (ethnic group), mole ( on skin) - mole (animal)

Jbi homonyms  sewsi 4l (uéi agl (K15 Jinall 8 Legd 4Bdle ¥ S ) (piialS

, bank(of a river) _¢ — bank (financial institute) Alle s 5a,
bat (flying creature)iléall sk - bat 4ab I 8 sadiey o was(used in sports)
race 4= Il 3w (contest of speed)— racescie saxs Gl (ethnic group),
Mole alall e 4.l ((on skin) — mole <l asll Sk o s (@animal)

3. when one form has multiple meanings that are all related by extension, it is polysemy ,

e.g.,head (the top of your body/the top of the company) ,foot (of a person, of bed, of
mountain), run (person does, water does, color does)

pOlysemy GA.A.&.\L_t\AA.AL\ iliata g 82220 @\&Admoh\} OsS Laaie
13%a 4\5‘)&1\‘53@5 :‘)giaﬁﬁ}eu;l\gég‘};és\g&aﬁ} head 4.< Jis

How do vou distinguish between homonymy and Polysemy ?
homonymy and Polysemy o (% S

Via dictionary o0 5alall ddan) 5

Date ( a point in time) damlie G5 ge 3 e La g )l

Date (fleshy fruit) () Aada i & s sall oy daly oo sgian L 58) 3 el ol Ui s,
So they are homonyms

homonyms (& il daall Ci Calids g 4USl) 8 4gdulia juind  date 4alS Ui

Date on the letterals ; & U

Date and appointmentac s« g )G

Date a social meeting with someonesk jasi as lall jelaial & )
So they are polysems

polysems el 4liaic Lgailaa Lia gi clalg e ga e Jaala Ua Fo ) Lia Jaa3l
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lecture 3

Semantic features
One helpful approach to study meaning could be by the means of accounting for the
“‘oddness” we experience when we read sentences:

NP V NP
The hamburger ate the boy.
The table listens to the radio.
The horse is reading the newspaper.

C VAl ) aaall
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The oddness of these sentences does not derive from their syntactic structure. According
to the syntactic rules, we have well-formed structures.These sentences are syntactically good,
but semantically odd

Sy sl o alead) (530 i (5 sailllglSls aas ¢ g saill o) Al W5 (g sail) LgaS 5 LeBELE) 8 Cand Ly Jaad) J 4g) 2l

LY Ay e
The hamburger ate the boy
Since the sentence The boy ate the hamburger is acceptable.
What’s the problem?
Al ST 2 jeen

4aSla & (A uagdl JSI Al ) Lia alaal)
CACE) b 3

The components of the noun hamburger must be significantly different from those of
the noun boy, so only one can be used as the subject of the verb ate.

The kind of noun that can be the subject of the verb ate must denote an entity that is
capable of “eating.”

éjdﬁﬂ\@éﬁ\ﬂd\@&ww&\jﬁésJjjj\(:.u\QU)&&&&QﬂQ\%}M\H\QU}&Q\
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We need to determine the crucial semantic features that any noun must have in order to
be used as the subject of the verb ate. Such an element may be as general as
“animate being.”

il 5) o el (o3 (S5 A JSI Jrill ae alatind (38 5ie 0 5S5 O ang Caum and 4y juan 4V O jaes aaad ) zliag el
(> S geall e bl oS ) L dalyg ) "o Ay goall 352 " Glad)

We can then use this idea to describe part of the meaning of words as either having (+)
or not having (-) that particular feature. So, the feature that the noun boy has is “+animate” and
the feature that the noun hamburger has is “—animate”
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Componenntial Analysis
The term componenntial analysis is a semantic approach which assumes that word
meaning can be described in terms of distinct components, many of which are binary.
(Dl sSall) aaliall Julas

Jadl Tas O3 (e ST g

Components are qualities embedded in any word’s meaning, like the ones seen in
dictionary definitions.
E.g., Dog refers to a mammal. Also, it refers to domesticated and carnivore

(:)ﬂ\dﬂ\cﬁcﬁgi\)‘%ﬁ&aw}@uﬁ\dﬁa
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Dog [+mammal] [+domesticated] [+ carnivore]
Wolf [+mammal] [- domesticated] [+ carnivore]

+ 4l i ans OIS 3 aalll JSU Ja g call sa Ja g il e sa Ja S an) Lills Ui
Dog [+mammal] [+domesticated] [+ carnivore]
Y g AaS ) oKy Cogan o galll JSI ) gan 8 g ¢ - pai Cogun AN Call jue (KD (008 () s 4] o m LS g idl) Ll Lia

Wolf [+mammal] [- domesticated] [+ carnivore]

9
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One typical example assumes the features: ANIMATE, HUMAN, MALE and ADULT
That is known as componential analysis. This approach is used to analyze the

s e 88 Al Ay gl s 4l ol jaeal) 38k A Qb

Jalaill 3 axdig s Cog yre i sSall Julaill 0 glad 138

Analyzing meaning in terms of semantic features

- iE 2 “

animate +
human - - 7
female - — = = & +

adult - + ~ + = +

Al - S - gl - (s — Waai 2l sTabledd Uall didas Jsasll 8 LS
(A0 S b e ) &l g 3 Y 5 il Yy o Y s L S3 2 ANl ) pmal) O, Al o et gl
Hut S Gy I Y5 gl Gadls + (s GIS 58 (luaad)
(young osSsalslé ouall s fld) G 38 (&) @l Gy (A Gl O8I Glasil s a2 gl
o 0585 ¢ — 4edle 2 Gl ) Gy sl (a8 daJl)

young seill ahaa et 4l ol g il K ladl a4 3L

meaning of certain types of nouns in terms of semantic features.

analyzing meaning in terms of semantic features
We can also characterize the semantic features that is required in a noun in order for it to appear

as the subject of a particular verb.
MYJ\ L_a\).u.d\ § Loy &\}:\ Ul Lﬁ“’

AVl ) jraal) Cus e Siaall Julas
Jadll i (0S5 Cua a1 8 o aldall aadVall & Jaeall Hiad apdaio

DS) gagdl SY) JEall s
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The Is reading the newspaper.
N [+human]
This approach would help predict which nouns make this sentence semantically odd.
(table, horse and hamburger)a®e e 5 cuse 5 s Sine Jaad A glall g Glandl s 8 jegl) Cum ans) Lis o 58 Ol apdaliond

5 S3) sl o S (5580 ) alead) b il N sl o (S 06 G 10 b anmi Le s sui (o) s Al JS0d
(A sl )

14 a5 ) 5 S3 Ja Guinll Cum e JYRILY) 8 4Bl glasY

The approach is only a start on analyzing the conceptual components of word meaning,
but it is not without problems.

For many words in a language, it may not be as easy to come up with neat components
of meaning. Nouns, such as advice, threat and warning

(SLARD A8 (s JSLe 3355 430 i) JSUSa ¢ 332 (o) (S0 S inn s (o gl i 3 jn 5 o) 13a
lalizal 4aiBle O Sa aa Walagl Jead) o pad 4alll 8 LS (e 2922l

' (e Vo @l jaae puia s araay)
L ]
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lecture 4
Semantic/Thematic roles
The “roles” words fulfill within the situation described by sentence.
(1388 5 Jad 50y ) dadll 50 258 e 6f) Alaadl 8 Asia o)) ADa) (58 S o () 52Y)
The boy kicked to the ball o ) Js; Al gl)
The verb describes an action (kick)
The noun phrase (NP) in the sentence describes the roles of entities, such as people and
things, involved in the action.
We can identify a small number of semantic roles ( also called “thematic roles “ for these noun
phrases)
S (Blis) GESY) Canay Jadll
el 8 (S yidiall 5 oLulV1 g Gl Jie ((dasdly alE e ol S) adl ) 50 o 4ganll 5 Ll
agans¥T Ol jlall Jdge g gall ) 9a¥) Lgpanst Lyl 5) 4dVall ) 5a¥) (e Julf dae aa5 adanss

Agent and theme

The boy kicked the ball

One role is taken by NP the boy and “the entity that performs the action” known as the
agent.

Another role is taken by the ball of “the entity that is affected by the action” which is

called the theme . —
The theme can also be an entity (the ball) that is simply being described \
(I.e. not performing action), as in The ball was red

£ oagall g ((Jaily ol (pa gl) Fiaal
o SIS Al

Jadlls aliy el 3] Jiaall (51 AgeNto (oamsd A5l g AS 1) ki () KI5 " L5l ga 5 Asand 3ol 58 550 2 g
g o (Jadll 2dia) J5Y1 Al e il GLSH a0 ST ga s AL 550 aa g
The ball was red Jidl & WS (( dadll g slaay ¥ (All) el Lebiat Eua (o K1) G (6K o) (Ray & g gl
| yas S Ll Lge guia g s oS (s 3 guiall (HSH Lia) | yem kS o <11

Agents and themes are the most common semantic roles
Although agents are typically human (the boy( they can also be non-human entities that
cause action, as a natural force (the wind),a machine (A car), or creature (The dog),
YAl ) ol B )il SV 8 g agall 5 Jiadl)

(1and) o SI Jie 8 LS) (60 e 5% o S IS5 g bl Jial 8 LS (5 4o 53 0y 5Ss Bale Jied)
(Malis el jas 3 8 Lgpal) Zl )l 5 Chual ol (8 dxpal) 58 Jio dalS Jed s (Al Jie 5y e Jiaall (55505
(S Gshaall g (T jati LSl 45yl e (oa) 3wl A

themes "alil" & s gall 58 QUSI 5 " il AgentJied) o olidll ua o QUSH | olidl) JUia # 58 5iSAll)
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all of which affect the ball as theme
The boy kicks of the ball

The wind blew the ball away

A car ran over the ball

The dog caught the ball

S dal) e leda ) giSall o Sl g g ge e il Lersan

() & smsall b oS5 (Cabal)diad) s alglh ) o SH S, 1)

158 5 coe( & sumsall o4 oSy i) Jheddl o Ul ) e o SI #L 1 ks
S G 5l S s

b‘)ﬁ\&_ﬂﬁ\tﬂum

Instrument and experiencer

If an agent uses another entity in order to perform an action, that other entity fills the role of
instrument.

The boy cut the rope with a razor

He drew the picture with a piece of chalk

Gl s dda gl

Instrument 4w sl 555 Jae 28 UGS 06y 5l Jaad AT (LS padiing Jadll Jiea) S 13
(S 31) sl Al 33 Jinl al gl oLk

Dsiulall ol 3ol 5y ) geall o) 52

When a noun phrase is used to designate an entity as the person who has a feeling,
perception or state, it fills the semantic role of experiencer

If we see, know or enjoy something, we are not really performing an action (hence we
are not agents).we are in the role of experiencer.

In the sentence: The boy feel sad, the experiencer (the boy) is the only semantic role.
In the question, Did you hear that noise?, the experiencer is you and the theme is that noise.

(sl 5 el b (sf)csmall VAl g o iy 4l &) oY) 5 allall s ) sal) ey ) (i) s LSH Lpan¥) aleall b
e lle (Sl 4y U pad Jadh USTg 4 Liad 5l Jadll (ol Gl (o Wa 50 (A S ey 5 5 LS D)
((sa Jeldl g SN Judy Caald (o gl s 43 e e ) Lia Ul A5 a5 Jiiaal Caeans Ul 31 i)

(0ol g saasall 5 Al 4 2l alia Jix) (YAl ) gall aalia sed uall s ¢ 5all al8 e L (3l ey Al aleall 8
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Location, source and goal
A number of other semantic roles designate where an entity is in the description of an event.
Where an entity is (on the table, in the room) fills the role of location.
Where the entity moves from is the source (from Jeddah) and where it moves to is the
goal (to Abha), as in We drove from Jeddah to Abha.

OS5 s ((4dja) 3 AL e ) L (s
Lol ) oin (g (i B 8 SiS) ey (Ll ) il ) (52) Liadl e o s

All semantic rolls are illustrated in the following scenario
Latifah saw a fly on the wall Lilall e abd &l gl

Experiencer/theme/location
ISl s Lailall g6 g g sall o 4l g (el 8 4 el caala Wil g 4 jaall) dihal caS a5l (S) 6f 2 50Y Lia)

Latifa borrowed a magazine from Ahmad
agent/theme/source 2aal (e Aaall & jlatinl dgdal

(o) e Dradlls ¢ aaall & g sasall g cpla V) sa 5 STy ) 92 Cadld L3 (Caial) L dg,lal)

She squashed the fly with the magazine Alad) Al 5 A,0AN Cadss

Agent/theme/instrument

sl

She handed the magazine back to Ahmed — xal ) alaall Cieas

Agent/theme/goal
(S2ed) 58 2aals ¢ oo gall y connd) o alaall ¢ Jiaadl iiad alaall gla y Gl (e 08
Ooh, thanks, said ahmed | Koy & daal
Agent (2> 5) Jiaall Lia 2aal)
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Determining the role that the NP’s play in the situations:
Agent: the entity that performs an action

theme: the entity undergoing an action or movement
Instrument: the entity used to perform an action
Experiencer:the entity that has a feeling, perception, or state
Location: the place where an action occurs

Source: the starting point for movement

Goal: the endpoint for movement

AN A B ) gy Suaad

AS a5l QY dady 6l8 3 LS g 5 (i)

Theme

Jadll 5l 4S all Cad) ) & gaiasall 52 5 o)

Instrument

s sl oa Sl Cm Sl g s gl Jall oo sl JBe (8 LS ) 4S )5 ISV Joaad deadionll 1 A 5l
Experiencer

5 el Cuiain) (& Jhe 4Sa sl dae gl 0w 138 5 ady ) LSl ) men s iy ) ) 1oYWl sedll desy e

Jadly ald e ) Jiaall  Agent
Siza dad 5l 4S pa L Y A jad e sl de g g peluall Lae sl
E Location
b jall b gl Al o) asyl dhgas 1 Sl
I Source
ASJAMLBM\JM‘;QBJ;C\:\;_Le\é\bé;wlj)éud&gusgﬂsy‘}\45);1\3,3\&3%3;3@‘)45);3\)3@

Goal

S Al ey Cangl 5 L) um Ll Baa (g Uil Jlie 3 WS) gl dana sle S Jpam sa 5 i)
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lecture 5
One fact about concepts expressed by words is that their members can be graded in
terms of their typicality.
A good example of this involves the concept BIRD. Even assuming that we all think of a bird is an
animal that lays eggs, has feathers and can fly, we still feel that some of these creatures are
more birdlike then others.
While the words canary, dove, duck, flamingo, parrot and robin are all equally co hyponyms
of the superordinate bird,they are not all considered to be equally good examples of the category
bird .According to some researchers, the most characteristic instance of the category “bird”

is robin.this idea is known as the prototype. ! !

Ll Jea L@L‘b;‘c)ﬁ QLJSL@_\:)_\;';L?J\ &.&M‘ U o2al 5 43
ity (i) Ll s sl il s 4 lal) (s Lallfie) JS U 81 ] (i ¢ o sgdall 13 Jga JUe Judl 2 BIRD

osianll ga 3 1aal 10 o) (el bges g ¢ ol yplall

co hyponyms lezses (g ll5 slanlly s3iaMd g adally adlaally g sl ol cps 8

J}&H\&\}J\w\)ﬁ}c‘)@aﬂ)ﬁ\ﬂ\}ﬁJ}L@d\mgﬁuﬁau‘u\)ﬂuﬁj‘)j#\ﬂﬂﬂc)m%;*\gi
4.:\,\‘):1\aﬁﬂ\&e@)@ﬂﬂ\}\J}é.-ad\d}ké&ﬁ&ﬁ&djﬂﬁdﬁ)}#\&&ﬂbmﬁ\‘;ﬂ}@w)

The concept of prototype helps explain the meaning of certain words, like bird, notin

terms of semantic features (e.g. “has feathers”, “has wings”), but in terms of resemblance to the
clearest example.

Thus, even native speakers of English might wonder if ostrich or penguin should be
hyponyms of bird, but have no trouble deciding about sparrow or pigeon.

These last two are much closer to the Prototype

oSl (Asial dlla 5l Gy ella) Jlie alal Ll jaal Leiladaian b Gl Sl oany = 580 Lsebuy #3lai 5) £ 5391 5 sqda
Dseall Jiall 8 LS JSEN 8 Ll . (e

Ostrich sl g1 penguin Gobd) da o jries Jlw 38 (g dasV) LY Ciaaial) s

sparrow or pigeon 4skealls ) shiasll Cayial 8 43 gmam 2o ¥ (Sl 597 ) plall 43 (0 535S O
(i gl G5) Lsaball 8 (e pgdl Glania sy Cpllie ol Lat s ) saba dslaally ) siemnl) o) las eaal g Cun ) salall 48 (e agdl




The following is a chart showing the Prototype of a bird based on the judgment of
California undergraduate (Katamba 2005)

Dl Jea L) s8llS daala oS ania 6 am )

",W ~ ’;VZ N\ —
‘ ll - %\_' ) a2\
\ \ o o, /e_,:-"" vzl )
B . e ” v
\ - 4@
-

(Usehal) ans L) e 288y 43 JaaDly Cus pladll Caia AT ) liiiatl) aues Gl s 1388 5 dsleall ) jila ) ghiaal) day

What is a Prototype then?

Prototype is about mental representation of meaning or categorization

Let's define a bird: has feathers, grown from an egg, can fly, makes sounds and so on.

If | asked you now, if an ostrich or a penguin is a bird, chances are high that you

would say yes, while they don't fit the definition.and this is where prototypes come into
play

What we are dealing with is a gradual categorization of meaning with an instance of
representation.

fzALl g5 sale

Gl ol gl o) Jaall Jaall ) pail) b z3laill 2aly

3 ity el i ) (o ¢ i ) s el I 34

iy pail) (amy agile (Babaiy Y agd) Cluay axd 20 i st a8 g clil) Lhallay o8 ) ol 408 (e g iy aledll 5l kil Ja oY) Wl 3

A Prototype is an object or referent that is considered typical for the whole set.
Thus, if you encounter the concept door in isolation and immediately think of a door
swinging on hinges rather than one that slides or rotates.

that kind of door is, for you, the prototype for all doors.

But not everybody is likely to have the same Prototype for a particular set.

() a8 Lt gy salall Lty salS dmala Al 3 3 Uik LeS) alelSia de ganal £33 e (5 5m3 an e 5l 3 sl

Al 3Ll 3 LS 4 3 48y 15 ) 5) (3l g Y sl 8 LS s ) V) e Y L 8 Sl
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¥ IS Y rhsai 05Sas Jaalia 53 Bl J¥1 ) s Lilaa ) Llie 8 jelay Ol canat J5) 6l

Aige 4 sanal Jainall (S15 13S0 gdiiay 8 apaal) (ud (S5

Given the category label furniture ,we are quick to recognize chair as a better example
than bench or stool.

Given clothing, people recognize shirts quicker than shoes,and given vegetables ,they
accept carrot before potato or tomato.

Aalall (ST 8 el o) Gilaall & jUasY) s S 0w Ju( bench or stool )

Prototype PRI A 3 palaall (edle JB 3 jalall &g\.@it‘éjj‘ﬂsj\)
B)JL\ALMMAJ‘;JM\JMGM\M\&J}:\H\&D&ML@S

(A o5 5l elaall U8 anadl) Lind & 3y Gerdke 4l Linaw 3) Gl
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lecture 6
A referring expression is a noun phrase, that is used in an utterance and is a link to
something outside language, some living or dead or imaginary entity.
That “something” is the referent

A referring expression is not a referent; the phrase a banana can be a referring ;

expression but it is not a banana.
“Washington has three syllables, and 600,000 people”

LS L) (s (ps<E aBe Al allall 3 eLdd) day 5 el 8 addiey 58 5 dpend 3 jle s 4 sl o JLAY) llaas
o)\.ﬁ:‘}[\ (R ";L)ﬁ:‘i\ " 4_)]1_)'; }\ 4:\5;\5; }‘ “\:\:\A j‘ 03 ¢ g0

i have a banana s <l Ul Jla candi ) gall Loy 2aly¥ (Kl g ag puamd o L) () 6K3 08 §ga 5 jlind aa je gl 3 LAY mllaias
“Washington has three syllables, and 600,000 people”

Wa-shi-ngto-n  (4dall Casa (e 4pdadl o) jal ¥ ol adalia ¥ aay) daws Tov v v v 5 akalia ¥ (e ()5S0 Ghaidl )

apbadl alalie ¥ (e 0 oS5 gd 4g galll 4als (e Glaidil 5 daly JUall 45l b

lohidl s S aae I jpdy JUa 8L Ly

(Washington has two syllables, and 1,000,000 people Js& g uld cdagdy s

The existence of a referring expression does not guarantee the existence of a referent
in the physical social world
We can easily use language to create expressions with fictitious referents such as
The skyscrapers of Al-Hasa
The river of you Riyadh
The present king of the USA '
dl.uéh;)&d;@‘ﬁ&déjw\dwh&a 13 wﬂ\ GGLA.\A‘Y\?LJ\ uﬁb)l.m\ M\YM}.\’_\S\ aJLmY\ A_UL-:\
elual! GAA_\Mt_I\.;L:h u}..u.a G_m.u
\S:\J.‘a\nﬂla\— A& La_)l\ (D — Ch gl el
Loy JUid) (a dpa g (0S5 38 S ) s referents  Jusll (e 4ses 5 Ldl oaliic] Lia 550

dania g a8l ol LIS ¢ ¢S5 referring expression

Primary referring expressions
Like a dog, your friend, George Adams, the flowers in the basket ;(they refer directly
to their referents )

2 (4o pall JAawi ) A puaeil) &) HLEY)

(?@\Jﬁoﬁwmb_)w\}]\éj\mz)w\‘;)ﬁj\c(ad\c_)_,_;cuﬂbwjmcg_\ls:d:l.e

(Jelill o jiluas pual s Ua uuwill diaall & a0 o S 5) adl gz sa 138 alsiiy an) puad ) lipna Il aeal)
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Secondary referring expression

Like he, the big ones, ours, that one.these expressions are headed by pronouns and

they refer indirectly ;their referents can only be determined from primary referring expressions in
the context in which they are used

g i) Ay paatl) o JLEY)

Y e Jad o gt o o Jeldll ) pdle e IS8 5l yilea Lol 55 ol i) o3 ¢ @lly | LiSla ¢ o €l ¢ a5 i
eS8 Bl (& 4t )

he ,She 4w )l 4y el <o) JLEY) I a5l ol La1 et Ua jilaall iny

Mr Bassam is a good teacher (4s: s 4 s 3 L1 ey Ua aleal) i)

A R agage 8 AN Jla iy
| broke my telephone
It was a new
(058 )Aanns 511 o JLEY Ayl ay i) 4 yanil) ol LIV (e Lol Clials yraa LY a5l o jLa) g8 (p5lil) e o sad JU) it
el 3 sl SIS g dpaliaV) 4y juatl) o HLEY) 2 (58l 0 Sy telephone

He was a good teacher (pbud) jise st 54 )ll 5 LAY o 3 gay 4350 o LI he aall Laiy)
I Al B asase pe AN e tiag

Ahmed gave salma an apple , salma said thank you rnank youl

2l Je 2e2i You p

Referents differ from one another in three ways: TVVVY T e
1 - Unique like lake Ontario versus non-unique like a lake , f
2 - Concrete , such as an orange, versus abstract, an idea Yy S v_
3 - Countable like a bottle, several bottles versus non-countable like milk 5

‘[
‘,\iA‘EE‘a‘

@A\yv‘gguautpuhﬁ&\)uy‘
((Lauasd (y9n) oo Jofi Ll w8 o) AU e Lo s g ) 5 sl o) e de 53 (B by Lol 05 O -
S s oS8 Jie ugala i BT g R 5 S W (S Al S ugala (285 050 o) -

Cula Jie dg8a 8 ()5S lenSe 5 o)) Jia 2930 (555 ) -
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1) First, unique and non-unique referents

1)We swim in Lake Ontario
2)We swim in a lake

Both of the underlined noun phrases are referring expressions they might have the
same referent , but a lake can refer to various bodies of water whereas Lake Ontario
always refers to the same body of water.

:( JJU J;tﬂb Jém\ ) u-‘JY\ 4lal) C)ﬁa
s L) 3 a8 L )
o_paall (8 Lo =¥

L@;@A}b%\%@&)}\wﬁ&\ﬂ\uﬁ}c(oﬁ)o)&‘ﬂ\u&d@@)@)@\a‘)u\)(\é\:\my‘u#‘)bﬂ\@%
O OS5 Az slie 4aSy o2aae Ladla 5 )l o) o g 2 Cus

UNIQUE Lsiad ed 05005 Lee 55 (g o8 53 kil ooy G o ol g 53 2 W) Jliall il sl
| saw the Red Sea Al (Bl gisal) 5 83 AN JUa
UNIQUE (e s ds 55 e 1 8 sgd peal) Jaall sa 5 sl aul daat o3 JO 128 3 s

»Fixed reference Lake Ontario, Japan, Barack Obama, the Philippine Islands
Ol ¢ Ll sl L L) (Al Sy sal (A lan 5y seia o _pa) 5o )50 B a8 Jiaiiy ¢ AL A i) il L)
unique sy b ed(@&l...c 1 ol desy sy padid Wbyl &)L callall (8 oaim 5 (UL A 528 0y 8 4BaY] (538 aaen )

»Variable reference that dog, my uncle, several people, a lake ,the results.
1o uiall Ao juadl) il LENY

LAl aad o gy il ey ¢ ae ¢ QS

@‘---Lﬁ)‘—.ﬁi\“‘-?ﬂ:‘:‘_ﬁ‘ s‘j.ac\.\A}\)AD}\M})&D)@SQ_\N\\M&\Jﬁ\dﬁ:b&cbw&wﬁ\u.\&

(o280 ) non-unique gl e ing
Fixed reference inference

For example , in a restaurant, one waiter can ask another ,where’s the cucumber salad
setting? And receive the reply, he sitting by the window.

Al o L) (A

c\‘)_géglcj_)gé?_)w\uug_dkud;ﬁw\sJ&\JJUJJC\S\JL»;OPM\‘;J\:\AScﬁg&‘\:\r}fﬁu\bj.&\cﬂu%O_,S:\Q\:\;‘
o3I )y ol 58

SV Gl caalia i 4l colalS sadlall  La laldl ddala

Il (& Gl g giSall Al A Jba
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Jgisall Ao e d\:\.A
if your friend putting mustang car
he is comes my room he said
here he comes mister Mustang car g
i sall B buall Calia aall () D g anaal (L8 (ol 4pnialy ) Dl s & 55) @ilas g 45 b litia pusa g
A3l LAY AV IS IS A ge 4SS

You might ask someone, can | look at your Chomsky? And get the response, sure it's on
the shelf over there.these examples make it clear that we can use names associated

with things( salad) to refer to people and use names of people (chomsky) to refer to

things,

Gl e sa asliy 158y Seliie ) S 05 Ca gl 0 pdaiall L i il 8

o ki Al (S Al gy g Ay o A8y play dle Jui) 438D g Suse 028 QLS oy ) iyl 568 (o 025 QLS |y O 2 30 45) i)
"y gl ale 8 Cag ray e S Sase sl e alld g CUSH aaly 43) dagh sed ¢ S 5

e (add anl aladinl 5 Lotk (add o o g ed HLall e AdS S g o day S e LAY aladiinl apdaing asal g 4V 53
(Lol Jasi i oLl iny 4SS o 252y

And inference is additional information to connect between what is said and what must
be meant

Jai o) 10 Cmg Al 85 Le g o 3 4dlial Cila glaa sa JYALLN
2) Second, concrete and abstract referents

Words such as dog, door, leaf, stone denote concrete objects, which can be seen or
touched; the objects denoted by words like idea, problem, reason, knowledge are
abstract; they cannot be perceived directly through the senses.

M}AAJ:\:JUMM\Q\JL»\J\@&\MM\C)J(Y
cWJ@})@L&uM‘}A&QMLSGJLdﬁPcMJquU\culﬁ\dfm

L@wh\]\_j\w_j\tgjng@LLd\Jj M}&ﬁaﬁﬂﬁuﬁ‘;@écﬁﬂc%c&cﬁﬁd&&b%é&
DJALL‘):\!.‘-DJJ_AA‘J@LHW)\MJ‘MJ&YDJ&‘&J‘}A{

Words occur in different utterances may have different effects on other words.consider
these contrasts:

The key to the front door // The key to success

A bright light // A bright future

Key and bright have literal meanings when they occur in concrete context and figurative
meanings in abstract context

rdle ¢ AL Gina Led 055 (sh AT Bl ccaline il Ld 05 L8 ) LSl (iany

The key to the front door // The key to success
laY) L) e il ik

M\}@wwcu&a@MSJYJ‘);\@ML@JM‘)M&_}LAEG@CuJ\mewﬁjgﬁ\‘j‘;@d@uy‘u\.ﬁ\cm
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A bright light // A bright future

Brie ¢ gua Brie Jaise

O A4S 5L olae sed (3 e Jifise Lainy W (g palla s o sale 5e8 48 jall 5380 (e (55 38 (3 el 5 guall (S5 (5 e Laa DS
Aaa sed gl ol (usale e ged (Blle ) )y Jatie

figurative Lty Loty ¢328U) ¢ gaia g L) C\Jé.a e Jie Gu galall e)\ﬁ\ Sl A; Ly Lealii®s (3 e « Cljéa Ol e DISa
3o oftane 5 Lol ~lide Jia g sale jall 3 jaal) QDS (Blas 8 L jlaa

3) Third, countable and non-countable referents

Noun phrases in English are either countable or non-countable.

Both countable and non-countable noun phrases may be concrete or abstract
Concrete countable expressions refer to items that are separate from one another like
apples, coins, pens ,and toothbrushes, which can ordinarily be counted one by
one.abstract countable phrases have such nouns as ideas, problem, suggestion.

D gdra il g3 gamall G Al ~ 5 (Y

s gdma y& gl 635 gdna sS4y alatY) Aall) 8 aen) Jeall
2 yaa dusgale e ) A sale ()5S0 Lay ) 3 93ra ) 5 3 52nall Laa IS

aebaiod oy YD (5 g DBV Adiaea 268l 5 AL Sl ASSia gl amy e Aliadia Ladla (¢S5 (02 ganall) dn salall il il
and) il (e i) Cum (5 31 5 eaal lane

_C\Jﬁ\jﬁ&ﬁh})&‘}“d&;@‘ﬁ\&oﬂ(ajjw\)ajﬂ\mﬂ‘ﬁ\ﬂ\kb\)ﬁ:ﬂ‘

Non-countable referents
Non-countable phrases, if the references are concrete, have three kinds of reference

- Some referred to continuous substances, such as apple sauce, Inc., mud , and
toothpaste, which do not consist of natural discrete parts.

- Other name substances that consist of numerous particles not worth counting, like sand
and rice.

- A few non-countable's are like furniture, jewelry, luggage ,collections whose parts
have quite different names

2 odgdna pudl) A galal) il yusmil)
A% (LAY e g sl VL el d sala IS 31 02 gama puall il L)

Mjuggjom‘y\wijubplcuﬂ\ LAMJLMA_H,.LA}\mojﬂyg\w\g\ﬂ\u@&\ﬁm_
ASSde (S5 Y

Jall o oY) Jie e (S ¥ Al @l a5l Slwall e aal) (g sa8 aliadio A ga I juli -
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e ) Jie) adline elan! Led (558 Ll al (Al Gile ganall g 4xia¥l 5 Ol s saall g QEY) Jie 2 gama pall (e Bl 22e llia -
(v ¥l ) 8ad) ) LAY IS il small el gl ¢ Y 0 5l Algla ) 48 )) S CABY)

Abstract non-countable's such as advice, information, beauty, are treated in the English
language as indivisible.
an Apple, a coin, a pen, a toothbrush
Some applesauce, some mud, some ink, some toothpaste
The singular countable noun phrase must have an overt specifier ;the plural countable
and non-countable may have a zero specifier; the specifier some can be replaced zero in the
last two lines above
Dol gdra € g A gala urdl &) sl

MMY@PY\M\@QWJ&)\L&}\L&uﬁj)u?@sebﬂﬁY\J\ E)Jﬁmj\}\‘\az\mﬂ\a\kc\d&}

(DJJSA)uhuy"éuJﬁcehj\cd_\:a.ﬁuj\d}s.\n‘chﬂ\

() QL) Gsama pamy | pall (amy ¢ Gaball (amy ¢ 718 juac
(Osaae ¢ (b ¢ 28 K) a3 jaall 2 gl G S5 o) g

Certain animals are named in countable phrases but when considered as food the names
appear in non-countable phrases

a chicken, a lobster, a turkey e .
P 7 - N
%‘Y:&/ N o
i

g.‘n}‘)]\eﬂ..gﬂ\c);_.mo\.ia‘)ucct;d :bdj.\:.n‘):\égg.émdSMa%LAO)ﬁUﬂcQﬁjbi}iﬁ.‘c\)@&u‘}:\ﬂ\

In contrast, there are animal names of Anglo-Saxon origin such as cow, calf, pig all countable
nouns matched by food names of Norman-French origin ;beef, veal, pork, which are non-
countable

s3sna elan) ggd o yialls Jaadly il Jie ((Jea¥) ksl (e (sl Jda¥) agi g shail o elan) llia JEall 3

A 8 4aly 22l AL jie g8 (s ¢ dae ¢ &) beef, veal, pork 4w il 4alily U gl (g3 (udi LllE Cus

Some nouns name substances when they occur in hon-countable phrases

And in countable phrases designate items originally made from those substances

Glass, iron, paper, a glass, and iron, a paper

What is regarded as a substance, so non-countable, may appear in a countable phrase to

indicate a certain quantity or type of the substance A coffee various soups several cheeses
(4rian e ola ) 3aLS) pasna pe e 5sl) wasll a3l Jic Wl ALB L8 3) g4 (e 4e gicaall o sall cland (any

g s 03 sna i Uigd (A Bsdiea o) s Bstia 5l ala) Gt ol ala ) (ulS)muai MWia leaiai vie (Sl
aglass, an iron, a paper

Kl sLaall j\bJJMJﬂég@b}@ﬁ\d&)\.@.&_93}\m@ﬂg\ﬂ\Jw\gnJJm#ﬁW)bdjm‘ﬁéA\_,AS_)M‘E;\S‘
A coffee various soups several cheeses J s baic (Sl ()
A;;‘
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| had a coffee Jsii OIS ((e3sane yfiad LgihaeS dan 5¢d 0 5elll (ha 3al g o o€ gl ey
gl aan sgd Hhadll slua 513 AL el Alglih o &y g3l cluall g 53 208 5 today | drank 3 coffees Jsa

At the end countable/ non-countable discussion
They are nouns that name collections of items -furniture, jewelry, luggage -which
are always non-countable
The specific items included in these collections are indicated by countable nounschair,
bed, necklace, rain, trunk, suitcase.
Agara il g 3 gamall 1 agledll &

o3 gdra pe ) oSh Ladla ) datel) g ) ja saall g SEYIS de gana (B 0S5 ) elasY)

4_.\~.~\§A‘5 eﬂ;} D8 b‘).ul\y‘

In other instances there are matching nouns ;rain and raindrop, snow and snowflake
rain non-countable 2sxe ne g8 Hhall Jic sagime pe clany Aias cllia

raindrop_countable o sixa ¢ shaall <l jlad Ly

SNow non-countable 2saxe ne s lill 4dilhae die

Snowflake countable o3 sxa o585 I @l ol ey

There are a few nouns which occur only as plurals ;
scissors, tweezers, trousers, shorts, jeans, etc.

Siem ¢ sl ¢ e ¢ o

\A,\\bj_)ia‘;ﬁuy;c@b.‘ahgiu‘é.@
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lecture 7
Deixis
Very common words in our language that can’t be interpreted at all if we don’t know the
physical context of the speaker. These are words such as here and there, this or that,
now and then, yesterday, today or tomorrow, as well as pronouns such as you, me,
she, him, it, them. Some sentences of English are virtually impossible to understand if

we don’t know who is speaking, about whom, where and when.
i S Deixis
- 4ad 4 2 A8 Greek

‘d\bj\&}ém}mdwﬁ\gﬁdhj‘U;\S\QA;I\A\eNSUA@j\S\Y\MMWY)@MY\M&MUQMSQSA
AJ\WM\UA‘\J#Y\M\W} ?@Jcﬂ\l _}As‘.‘;ﬁs&sgl}\ )ud\ddﬂdllsj_\x‘w\‘ei‘ejg\
) ) s ol e e &JAEAJ‘)AL')A?XQ

(2S5 3l Ce 5 A8l (he U je 3 Y1 Lgagh adain V5 ilanall 5 4ilSall 5) agle 3 calajiall e i Led) aualy)

You'll have to bring it back tomorrow because she isn’t here today.

Out of context, this sentence is really vague.

(i.e. that the delivery driver will have to return on February 15 to Building 7 with the
large PlayStation box addressed to Khalid Ali).

tomorrow and here are obvious examples of bits of language that we can only
understand in terms of the speaker’s intended meaning. They are technically known
as deictic expressions, from the Greek word deixis, which means “pointing” via

language.

eﬂ\ﬁdﬁyﬁ&c\hﬁﬂ&}[o)&;ﬁdy
O (3 dngly (3 Jad da 1) 5 dagdl Y agaas e JUall (6<0 10L 99 12 5 ¢ dela )l & 5 A1) sala (g0 Y JU 13 (e
vaguetase ¢ JUal 82 paiall

s gl 3 (550 Y pseie e U JE e alh ) sl U Y ine 8 10 s sl ol gl ) O
A Gl g SIS ga dagd aalaiug

4l “‘..Lu.n\).\“p0|nt|nq” bJLﬁ:‘ oliza Lﬁﬂ‘j de|X|S (AN g ‘5.11..1):\ dm\ % }@.5 L..).\SS &J_j_)ﬁ.d de.aa.aj\ (KYY

- We use deixis to point to things (it, this, these boxes) and people (him, them, those
students), sometimes called personal deixis.
-Words and phrases used to point to a location (here, there, near that) are examples of
spatial deixis,
-and those used to point to a time (now, then, last week) are examples of temporal deixis.
_U\:\;\ wﬁ’j(gm‘ Y ?QJ . 4\1) ) ‘_A\ i g (é}i\...a]\ Jaa 5 ¢ 1da ¢ él\a) PAERAY ‘_A\ o LY ék.aanj\ Jaa FRENRE P
(el I LA, personal deixis

spatial deixis 4ilSe &l LA e (cufg llia g La ) Gl o LIV deddiial) Sl 5 -

temporal deixis 4y Gl i) e (‘;..'ALA\ g s (,3 YY) i oll o HLaY deadiiall LIS -
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All these deictic expressions have to be interpreted in terms of which person, place or
time the speaker has in mind.
We make a broad distinction between what is marked as close to the speaker (this, here,now)
and what is distant (that, there, then).
close (this, here,now) distant (that, there, then).
bl e agia 3 o) AilSall ol apad Sl pulaill o) g o jadi aadaiiad il juadl) S

Ons, lia b)) Jgan cpa ot gl OV ¢ 1 5 Ly Jgi Cpa 4alidil ol 4 gem o L) (e Lin (e Il 48] daly 4] agdi auai
(e

We can also indicate whether movement is away from the speaker’s location (go) or
toward the speaker’s location (come). If you're looking for someone and she appears,
moving toward you, you can say Here she comes!. If, however, she is moving away
from you in the distance, you’re more likely to say There she goes!. The same deictic
effect explains the different situations in which you would tell someone to Go to bed
versus Come to bed.

i ) ‘u_'iid)i'\éelﬁd\Q&é\éﬂ\a@i\iﬁl&jﬁ&dﬂéﬁd\o&&\A:\a,\a\s)aj\ol;j\@&\l\)ydo\@&d
Guad s oo Js8 o) Jaisall el dmg olaty et Gl 1A daald s oo L) J 88 pelat 8 jadd e Gad

BTSN PER R T VT g | T R PV BN Js6 o€ adliag &l i L Deictic
Here she comes!. Jsti asl il S e b Ay & jle pladin) GUAS 5 4 o gall agdi )08 AlSIal) adll) Wl paly A3l eay)
(. muﬁuamd\du@mucmu‘;\ i 44 There L cydl il ) is Here

People can actually use deixis to have some fun. The coffee-shop owner who puts up a
big sign that reads Free Coffee Tomorrow (to get you to return to the coffee-shop)
can always claim that you are just one day too early for the free drink

o a 3525 (S) Jae Ulaa 5568l 58 (Ble ) puimy sl IS gie cialia o Cua 4ile XS deiXiS pladiul Sad ulil) aolaiy
deixis e g5 e asm sl oY (DleVl sl B die sl 5l Gual S Al fllae SIS L gl IS b (122 5 A

One basic way of referring to something is to point to it. Every language has deictic}corree &
words which ‘point’ to ‘things’ in the physical-social context of the speaker and T (¢ 3‘ o |
addressee. For example, if we should encounter a written or recorded message like: -W ’
| was disappointed that you didn’t come this afternoon.

| hope you'll join us tomorrow.

we wouldn’t be able to identify the referents of I, you, us, this afternoon or tomorrow;
The meaning of any deictic elements can only be interpreted through their contexts

o) "™ cilalS L galddeicticzllas Ll 4! I A oa ellh) o LEN) 8 5 oaal g oA o LAY anuluY) 44 )

Lo oS alls y haa g bl Jlia ¢ 4l Al ) alSiall dpan (e dgaglall e Lain ¥ slall 8 " LY
sl Hedall ey 5 Q) culd g 3adly @ e 3
lae il alaii o) il

deictic salic e le g ol 1ae ) Hedall dey e Qs yall (o il (e o a0 aakians Db o3le ) aliaV) i) § 2ic
peedS Ala IR e VI L i adationss ¥
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English deictic words include " : 1 Jadl deictic «lals

(1) Personal diexis I, you and we, which ‘point’ to the participants in any speech; he,

she, it and they, when used to refer to others in the environment;

Al Adn A G AY) ) o LAY Lgadlied ab g A g gacCual) b dsa (S JLdiall ) S Al g gad g <) Ul Apad ) -
i

(2) Spatial deixis spatial deixis here and there, which designate space close to the speaker or
farther away; this/these and that/those, which indicate entities close to or removed from the
speaker;

Goatall (e Ay B SIS G685 O ¢ Cpim agdl 25 g8 oYW sa g Sl 5 138 gl oda o) 7 w8 agdl aad Al 5 cllia g Lia 4yilSall Y
Gantdl e Gl )

and (3) temporal deixis: now, then, yesterday, today, tomorrow, last week, next month,
etc. all relative to the time

il alahy Le (gl 0@l yedll ¢ sl W lag | aadl | el ol a5 0 oY) Ll )y il gl -
b sl e gl a ol g ga poll | e TS oMy 5 4 3

Words which can be deictic are not always so.
Today and tomorrow are deictic in “We can’t go today, but tomorrow will be fine.” They
are not deictic in “Today’s costly apartment buildings may be tomorrow’s slums.”

Similarly, here and there are deictic in “James hasn’t been here yet. Is he there with you?”
They are not deictic in “The children were running here and there.”

The pronoun you is not deictic when used with the meaning ‘one; any person or
persons,’ as in “You can lead a horse to water but you can’t make him drink.”

Ay Gl Gl
“We can’t go today, but tomorrow will be fine.”
"zl ()5S g 132 (K5 gl Al akiind W e " Qe 8l LS A 138 g agl)

“Today’s costly apartment buildings may be tomorrow’s slums.”

"oad ) sSE e La \#d&@@\@éﬂ\meﬂ\" S \'AA‘;QDJLZ\U_\“:\SQSS}

Juieall 3 s 8ol ae o)) Jig (el Jlie adle 7 58 53l 3 58l e ey il g sl ale b 4l JUial b aady
ol =1 3% Laedy 05805

deictic sl lae 4alS Ua 5 a1 5 e Lail s ad ) BRED (5 5S5 o gas 8 ple 28 4d) 2aly Y Jlall & pqd

JE s Sl

Similarly, here and there are deictic in “James hasn’t been here yet. Is he there with you?”
E PO NN P TYR UV

Qtﬂuﬁd&dw}@wyém‘)gcu%ﬂyb‘)u\thﬁlﬁm
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They are not deictic in “The children were running here and there.”
Gllia 5 L & Sy OIS Juila¥) JUa) 138 8 Gl

(WU&é\cJU\thJM\EA@}mSJMY\Jms:a)

The pronoun you is not deictic when used with the meaning ‘one; any person or
persons,” as in “You can lead a horse to water but you can’t make him drink.”

deictic e <l el

Anaphora
We usually make a distinction between introducing new referents (a puppy) and
referring back to them (the puppy, it).
pa (A 5 Jlia
We saw a funny YouTube video about a boy washing a puppy in a small bath.
The puppy started struggling and shaking and the boy got really wet.
When he let go, it jumped out of the bath and ran away.

(S GlI3) Al 3 s o a5 5 (S gk ) oW1 B LEY) S o o sale cai(dadl) i ) Gulial)

i have a book It is think L sSall Ad JUS | agle 2ilall jpecall Cadat agll il aa yi ol le el o aaali Ldie 43 aady)
(OSAl il i ey 138 5 QUSH e 0520 £ S

My opa alea A (SN jea) goa i Jib Jss @il e dlaine g8 Bald
) ‘:.‘0 A CKY) Jabal JL ia Se¥) 5 dn sl i s 5 5a
e Iy caad g aleall e 68 4S 55 Laie

QS e S aladii) Bhaa¥s ,aY) aleall Ajt - When he let go, it jumped out of the bath and ran away

In this type of referential relationship, the second referring expression is an example of
anaphora (“referring back”).

The first mention is called the antecedent.

So, in our example, a boy, a puppy and a small bath are antecedents and The puppy, the
boy, he, it and the bath are anaphoric expression

e e o e e e e e e e e o e 2 2 £ £ £ £ £ £ 8 2 2 2 £ 2 £ 8 2 8 2 2 2 8 2 2 8 i e ey

it, he , obis e ed Y JUal 8 LS o gai ) 4l 5 LEY1 ¢ ol JLaY) aBle (e gl Y1 (53 3

liad) Leiae isl Al Gl Jual agd (plass Jibg g a Je d\.m) Ayl gi Sa¥ s WY e antecedentein
(o) gl g JUiall (B LaS jhandl Jg) (B cuilS (4B ppaial) o) guliad) Claw o) gail) dadia B Lgd) L) L daly (il guad) )
heit WhbS Bad LY @il sud) ot 5 ally Jalall ey (Wl LU A (32 g¥1 g

anaphoric expressions < 438l &) WY1 The puppy, the boy, he, it and the bath

aglud) e 4lS Y s s It . he .the boy .the puppy
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The puppy the poy. it &S (SIsY) Gl sl s34 @ boy, a puppy and a smalll

Anaphora can be defined as subsequent reference to an already introduced entity.
M\d@eﬁ[)gs&caﬁeuéﬂ : u»\_;;j\g_qw

Mostly we use anaphora in texts to maintain reference. The connection between an
antecedent and an anaphoric expression is created by use of a pronoun (it), or a
phrase with the plus the antecedent noun (the puppy), or another noun that is related
to the antecedent in some way (The little dog ran out of the room).

he _seall Gk e (ulially Gl sad) G Juai¥) & ST dal 55 e Llall (a gaill 8 aodiny Galiall We
ol (03 sa sall B ually Loy JAN) AV ) (50a)) Gl sed) I The 4dlzal 335k o )
A puppy (<) Gl 55
The puppy (V) ubis U
It 4ale 39z (ulia Lia
The little dog ran out of the room

The4ila¥ Anaphora osbis s & lall il

e e o e e e e e e e e o e 2 2 £ £ £ £ £ £ 8 2 2 2 £ 2 £ 8 2 8 2 2 2 8 2 2 8 i e ey
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Lecture 8
(o g 405 = agladlll cile 3N e seasll Collocations
Words tend to occur with other words: blond + hair.

(oo e 4addle oS5 5 Jmall i Ll amy pe (a8 QLIS ) g2l 23V 7 Cuoall ) Lpiamy aa U OIS
pMNie ISy ) Sie JS8 (il S ) el g 3 ke,

Fast car not guick car! Fast food not guiek food

daziuse alada Guls g e plada Js5 ¢ Alaativnn B b a5 4rg s 3 s
Legd 4aiDle Jas ae gleadion LaadS g Jasiis o oy S2e JaaiFast and quick

| Quick glance not fast-glance. Quick meal not fast-meal.
: dag s dam g Gl s Alaaiie dim g A o 500 Guils (el zaly Jany) 4skli 5l

5 e s L) il gl il B0 sm sa, Aba ) i 5l Jladl (g L (i Lay il i 0¥ i U e idaadle
((Ledabas 5 mny ae AU Al Gl S 05395 collocation e sl cde jun 4g julas) Wisl ) ghai

These examples help to illustrate Firth’s (1951) argument: “You shall know a word by the
company it keeps.”

(i g Lkl oa ga 5o oS Clila (5 5)"ledaba 5 mall A4S ikl GLIKH 48 jaa clle ol Eu B ey i 5 ALY (g2a

Certain words tend to appear together or “keep company”. This keeping company is what is
called in semantics “collocation”.

(ke dzanie Gl ) "Cle gana” AVl ale e 4o senall g2 " A4S jidie Ll ) lae el ) cilalS)
A collocation is a pair or group of words that are often used together.

Uans aa 20300 Llle Al QLS gl de gana (e zl ) s 1 Gile sanall

These combinations sound natural to native speakers, but how about students of English?
€ 4y 3alas¥l 4alll Colda e 13le (S5 ¢ Lty 4all La) Caaiiall Lails Cle ganall 528

Some collocations are fixed, for example take a photo, where no word other than take collocates
with photo to give the same meaning.

Glaa) yia Ll an on W ASl o GlA Ll el (i Jaa (g ja) AalS llia ud ¢ B ) g Jafill JUe 4Ll Gile ganall (an

Some collocations are more open, where several different words may be used to give a similar
meaning, for example keep to/ stick to the rules. Here are some more examples of collocations.

xﬂii\.m‘_;c ﬁ\/ &Lﬂhd&c«y%w@dﬁmﬁwbm@eﬁcb&\)ﬁ\ Gile sanall (iams
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BESPUNREN
1. You must make an effort and study for your exams (NOT do an effort)
(26 dadi ) Gl 5) 1OLERY (X5 2ga Jagi O gy

2. Did you watch TV last night? (NOT look at TV)
(oualall ks Ja aal ) € dpalal) 40U ekl Coals Ja

3. This car has a very powerful engine. (NO T strong engine)
(dﬁcﬂ)uw&]))diu d)ugﬂw’é)w\chﬁ

Strong (s 4aSle (oo A aslaall 53 58l gtiar gl 5 81 Fxa Jad Powerful

Sometimes, a pair of words may not be absolutely wrong, and people will understand what is
meant, but it may not be the natural, normal collocation.

4le 4e sana

| did a few mistakes vs. | made a few mistakes
eUadAV) (azy Culzd & eUbdAW) pazy Ciria

Why learn collocations? <le seaall (i 13

a) give you the most natural way to say something: smoking is strictly forbidden is more natural
than smoking is strongly forbidden.

358 & siae A Jo81 O e dpmpda SS) ¢ UL L g giae (il e LY e daail aganl 55k aad

b) give you alternative ways of saying something, which may be more expressive or more
precise: instead of repeating It was very cold and very dark, we can say It was bitterly cold
and pitch dark.

Al 5 ody 3 )b OIS Jodll adaind | las allaa g las 2 sb sall G Jsll) (e Jay, uad JiSI g a8y ) (65 Lay 5 Ay (3 ke (aas
A

c) improve your style in writing: instead of saying poverty causes crime, you can say poverty
breeds crime; instead of saying a big meal you can say a substantial meal.

U i o o dmy il sl gy il ()l iy g pad o il 5 Lo 2y S0 3 ol hal uen

(Ampdia g dadua dan g () 0 8 5 4o
Finding collocations <le seaall ge Caisl)
1. You can train yourself to notice them whenever you read or listen to anything in English.

(@8 saly o) I ) ganl 5l dnslian) 18 o) Al acial 5h A Salad¥) sy (s ol AasSle (3ysh e el Lie (Sl gk
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Cathy had promised to give her sister a call as soon as she got home but she decided to run
herself a bath first. She had a sharp pain in her side and hoped that a hot bath might ease the

pain,

alaall (5% 385 Lgaila b Al o jas LY Yol alaad) Jai o oy 8 LiSly Ol Ledpem s s ghinlas o Lgial e 5 S
e aidy Loy AL

2. any good learner's dictionary. For example, sharp
pala A e aall alatl L sald

a sharp pain... a sharp bend/turn... a sharp difference/distinction... a sharp increase/drop

As o)l /) A Bl J gy oha mllaaas S5 3 g sharp pain... a sharp bend

Al Al /) sals &Y a3 555 slturn... a sharp difference/distinction

As da g /) alas ol ) J 588 Ve gl aga¥l A g0l ) gl mllias (58 28 g sharp increase/drop
Learning collocations is not so different from learning any vocabulary item.

CilalSl aled e Calide Gal 58 Cile sanall alad

There are many different types of collocations.: (<ile)dle saaall g5 (0 Adlida sme ¢ il
Adjectives and nouns sk cliall

Notice adjectives that are typically used with particular nouns. 4 sleu) ga A5 Al Slall a3l
Jean always wears bright color. (—uays tas gha¥l el 4 o6l laa AU (o2 5 3aIS) o)) o8l o 5 Wil s
We had a brief chat about the exams. (e L&l Liua 5 5 Balae) JLEAY) Jsa 3 jpal Lalaa Ll (IS
Unemployment is a major problem for the government at the moment.

(A L) Lghin g g AISEAN) M) gl 3 e sSall 4 ) A1S 4l

Nouns and verbs Ji¥s slany)

The examples below are all to do with economics and business. Jue¥! s LaB¥) A3 (s 40l 4liaY)

The economy boomed in the 1990s, [the economy was very strong]

(58 OIS SLaBY) (5f) 149+ ale 3 ALaBY) i )

The company has grown and now employs 50 more people than last year.

bl alall (e SS) Jale Call 0+ ) Ly Jany 5 4S50 g
The company has expanded and now has branches in most major cities.

A )l Gaall alama (8o 5 58 QY L g aS Al il
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The two companies merged in 2003 and now form one very large corporation.

oS ASpd Cansal (N1 YooY ale & SN o)

Noun + noun (a... of...) sleus¥) + ¢ e

Sam read the lies about him, he felt a surge of anger, [literary: a sudden angry feeling]
(i) iy [ snd 1 ina) ) (3835 el die SV ¢l B ol

Every parent feels a sense of pride when their child does well or wins something.

Lo ot (B Osmaly sl las (slany agllilal (pa H3alL (g padly oY) S

Verbs and expressions with prepositions sall ciga g &l il g JladY)

| was filled with horror when | read the newspaper report of the explosion.

Jady) e LAY @l i Laie (e L cuilia)

With ae 8 L all 3131)

When she spilt juice on her new skirt the little girl burst into tears, [suddenly started crying)
g seally G pand) saall L3 ) 535 e juanll Sl Leaie

into _all 8ld)

Verbs and adverbs Jdall5 Jlsy)

Some verbs have particular adverbs which regularly collocate with them.

e it aaliia Gl gana (B alme Ja L JladY) any

She pulled steadily on the rope and helped him to safety, [pulled firmly and evenly)

Jall Caa g lia JIxiag 5 o 3 Jadll o Gl ) slaall e afaebu g o s dial) Gl
He placed the beautiful vase gently on the window shelf.
2804} ) L_A.i: ( d&\)u&%&@ﬁf ( M\)@.'A}

'l love you and want to marry you,' Derek whispered softly to Marsha.

She smiled proudly as she looked at the photos of her new grandson.

waall ka5 ) pal Hhaii a5 Al Gl (A
34

Wanl) j¢i [ =4 ayosha faweas semantics and pragmatics GRR2 (g gd L0




Adverbs and adjectives wliall s Jsl)
They are happily married.
ol (o 5 e pd
| am fully aware that there are serious problems. [I know well]
(la alel) opahad JSLie 5 g g Lelad & 0l Ul

Harry was blissfully unaware that he was in danger. [Harry had no idea at all, often used about
something unpleasant]

(ol il L aslall oy Llle s & S Y 5l ) Jhaa aasl don Y oS g

Synonyms and confusable words Leilae (8 ali QLS Jiay) 4 siiall LSl 5 ilda) yiall
Words meaning 'old ' a8 4.1S Jba

| met an old friend the other day. It's a very old building.

i laa ) 138 ¢ Ha) ag 8 e (Baaa Al

e ¥l e (I e Baa LB 685 ady Lo (ST (Bie 5 a8 ixall (udi Jlaed @ncient ¢ 'old  olielS

She studied ancient history. In ancient times, life was very hard.

damia 3hall Gl andll (a3l (8 ¢ aanll s ) s o

ancient s il 4alSs oz Ul 51 old o) Jsis Le XS U

This shop sells antique furniture. She collects antigue jewelry, [old and valuable]
(4ad 3 g Al (ol ) aliall il ja saall panis ¢ 4diiall CEY) a3 sl 128

Al o paall 5 GV AWS ae daulio A 5 s ) ) el e Giie Jmar JU antique dalS <l Ly

| helped an elderly person who was trying to cross the road, [elderly is more polite than old]

({;@.&.ANAM@DLG\JAJH:}J@L\APL\M@M)ud‘\AA‘;BLG\‘)AJ:\S\(;QM\)L\S)égﬂ\cbﬂdjbﬂwJpﬁmu
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charge vs. load
| need to charge my phone. [used for electrical items] ( i 5SS aa ) Aila (ad #lia)
They loaded the van/truck and drove away. la: Lilu 5 clialill g <l jall glas

et (8 ol gall 5 b jall 5 LS el e (U drasis ¢ J)sall Jaal 5 dsnad I sall GadS Gl g Y ae Sl el Al
i) el el Leia JS S0 5 4al e LS Ligh (Lol g 4nia)

L injure vs. damage

o~ . (plaainy mllia je (o 5l ) paie) il

LAl S e ki ¢ LY e pddi

| Three injured people were taken to hospital. sl ) s s ¥ 5l

The shop tried to sell me a damaged sofa i< ) J aw o) Gl Jsls

Grow VS . raise
5 gl )
£138) 5 Jpalaall g a2dins Jula¥ 5 il sl ae aadig

In the south the farmers grow crops.Jealsall zil cpel ) jall giall

In the north the farmers mostly raise cattle. juS JS& 51 sall 928 ) (e yal) Jeill

36
Wanl) j¢i [ =4 ayosha faweas semantics and pragmatics GRR2 (g gd L0




Lecture 9
Presupposition
Presupposition (s 4 o yiza jal) (2l 5l

4ual yil =5 SUPPOSItIoN 5 Gl o) aaile ety (3ol guall (ja et Wl 3l Jie Pre Js¥) audll Pre-supposition)
(Aies 4d e 5l Bl (i jibe o Waline ruad | (i jida

When we use a referring expression like this, he or Shakespeare, we usually assume that our
listeners can recognize which referent is intended. In a more general way, we design our
linguistic messages on the basis of large-scale assumptions about what our listeners already
know. Some of these assumptions may be mistaken, of course, but mostly they’re appropriate.

oualy le & jaig dzani be @ paidale gad L (Jiie o) clal gl @A) o) ¢ panlh ol o 13a () ol jaed aladt die

DAl QU e 58 Dk danensd ) ag) Ba 4l jad g daend be Jsa aol g Glad (bl e 4y gl Jila ) aanad o ple IS0
8 (ad 3 ) Gany(slinans I A8l Jsa Al e slaall Ul O g5y 138 5 5Kl (ol € 450 Liad 8 as 5535 jiled
Gulia g el 5 ()5S0 aadally (Sl 4l 8Y) e el

What a speaker assumes is true or known by a listener can be described as a presupposition.

If someone tells you Your brother is waiting outside, there is an obvious presupposition that you
have a brother

pPresupposition - letai )38 xaiuall (ol 485 yra o) Axanaa 4l i) JB ) LK)
al ) Ligh = Jlall 8 ¢l ylary ol &) @l 68y (adl Mia presupposition Ji (e 4l 485 jae oLl aaiual JUB alS5all ) Jiay
L&) el bl el

If you are asked Why did you arrive late?, there is a presupposition that you did arrive late.

And if you are asked the question When did you stop smoking?, there are at least two
presuppositions involved. In asking this question, the speaker presupposes that you used to
smoke and that you no longer do so.

Cpadill e el g ol elil g | cpaaill aadiud Gl e g Al dpal YY) e ) aa g Uia € Al e a8 g A1 1AL e 1A

GOS0 day J)guad) g | Aadls S el g8 93y SR ) 1AL @AY 68 GBS danaia dpal jil  aey 1] J) gl ag)
[(EENENSIRLITe v |
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Questions like this, with built-in presuppositions, are very useful devices for trial lawyers. If the
defendant is asked by the district attorney, Okay, Mr. Buckingham, how fast were you going
when you ran the red light?, there is a presupposition that Mr. Buckingham did in fact run the red
light. If he simply answers the How fast part of the question, by giving a speed, he is behaving as
if the presupposition is correct.

Wi ju b aS: AleSs e agial) (pe calls 13 caaall 5 4sie¥) o seal] 2ol dasana o L i) e i) A1 g3 Jia
wmq@\)ﬁé\)ﬂ}‘d\}..d\QA;)’;.‘\Os:%)&f@&é%&@d&?c\)@\BJ\.&Y\M;«C&Z\

(4 CilS Adnal) Al Y g dnimia de pul 3 glad Apal A5 () ) g0 ol Al ) gn Al aleS )

One of the TESTS used to check for the presuppositions underlying sentences involves
negating a sentence with a particular presupposition and checking if the presupposition remains
true.

presupposition (I have a car) remains true despite the fact that the two sentences have opposite
meanings.

This is called the “constancy under negation” test for identifying a presupposition

O5Ss Ll EY) 3 Giat g ¢ oadna ilaaal i) e 4ial) Jeall 1 Jadiiy 4nlill dal 81 Jeall Ganil addid @AY (e aal
Ul 43 geanall oal Y1 (1 5( i) ol ial Y 138 5 JA1 & ) Caaland zla 3l )5S0 B)caalant il J 58 OfSc unaa
L e oy e 485 clle) Ul 5) U e sy 4 llal U prana il 5iSall AllE Jlia) oaawia  Jaa Ll aleall 43) oz o s el

(A ) odms o) g 14l cllal Ul pmsall ) jidY) i) IS 8
ol YY) daay oa g " At etV e 138,

If someone says, | used to regret marrying him, but | don’t regret marrying him now, the
presupposition (I married him) remains constant even though the verb regret changes from
affirmative to negative.

)50 A ) il 5 (4o An 5 3ia) O 55 Apal FEY) caia gzl 3l e dedl cand W) 81 et sl e Aol i€ gy aa) adlS
g Gula anlidl ) aglaV) e i

Whether you say My car is a wreck or the negative version My car is not a wreck, the underlying
What is one obvious presupposition of a speaker who says: Jull daaidl 4 s lad bl @Y al
(a) Your clock isn’'t working.

You have a clock <8l clley s (5SS 4l V) gl Jsha Joxy ¥

(b) Where did he find the money?
you have the money Jlell elle; 43} 4l j38Y) € Jlall cias g cpl

(c) We regret buying that car.
you have a car st sSha ag @Y JSG dcal 58YI( Axdia)o el (s38 o) il Liaxi

(d) The king of France is bald.
he is king of france aglal s Lui 4 <l
38
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The following sentences make certain presuppositions. What are they?

¢ ale bl il e (5 gad agdlill Jeall

1. The police ordered the minors to stop smoking.

ol e (gl ) o ealill )yl 4 saSal
minors were smoking ( o2l & s ey 28U ¢ jualill 45} dainal g 4l j8Y)

. That her pet turtle ran away made Emily very sad.

‘\_\J)A‘;:\A\J:ALAADA:\MQ{)A olaallll
she has a pet turtle (slaala cllad il o) 2S5 4l Y1)

Even Fred passed.
b
That fred took the exam (=Wl (1) 85 dem OIS LAY 43) rial § 4l yidYI)

Disa wants more popcorn.
DLl e 2 el 2y 55 Lo
That Lisa has some popcorn( Jlié kaic Luws 4us 4ll)

. Jill went into a nearby house.

ot Cudl IV aall s

That Jill is inside the house (o sl xie 43l | 4 jie (& Gl das 43 a5 4 )
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Lecture 10

(4dshiall) AMsU 4y alll JudiSpeech Acts

There are different kinds of context: ( _u=ill) O Gl (e 4dlidg ¢ 5l lia

1. Linguistic context (i.e., co-text). The linguistic context of a word is the set of other words
used in the same phrase or sentence. The surrounding co-text has a strong effect on what we
think the word probably means. E.g., bank as a homonym, a single form with more than one
meaning.

Q. How do we know which meaning is intended?

A. Via linguistic context.

e Ldasy gy Siile e 58 il | alesl) (a8 4nasiosal) LK (o de sena st (s salll a5 sl il
i 4gliia g ailatc Cila jia Ll ALK ey
€3 saiall gale (o jri (S 1
; @l Ll ) (s sl Bk e i
| LS5 058 gl 5] ey cnas Ll 8 g ST ey 2S5 Lavie aasdi Ladie Lilida g ) 585 S o uandl) iny)
: (sl Ul sina A 053 12

If the word bank is used in a sentence with words like steep or overgrown?

(DAY Jslae Jhat sy (amy Jag 55 S i) saill aduiad ) gl )) Jle Gl me daall 8 a2iins oliy 4 3

If we hear someone say that she has to get to the bank to withdraw some cash?

We know from this linguistic context which type of bank is intended.

€251 o Gl ) Gl e JBe L aal 3

Glidl 58 3 gualall () (DS (Glan) (g sxlll namil) 138 IS (g aled (paid

2. We also know how to interpret words on the basis of physical context. If we see the word

BANK on the wall of a building in a city? The relevant context is our mental representation of
those aspects.

i) il g Lihde A 0S8 oandad el e O 08 e (g5 Ladie | adal) Bl el e GlalSl i adati ol
(i) Jae Bl 5 ¢ 13S0 5 3 85 Camas 5) 3580 Il (e il gy iy iy (il ilidie s gy orandad Sl (i (e g e 31 iny)

Speech acts S Jldl

There are ways in which we interpret the meaning of an utterance in terms of what the speaker
intended to convey.., to “interpret the function of’ what is said?

In general, we recognize the type of “action” performed by a speaker with the utterance, such as
‘requesting,” “commanding,” “questioning” or “informing.”

We can define a speech act as the action performed by a speaker with an utterance.

E.g: I'll be there at six = promising

¢ sy L " ol A 3" o2y ) ISEI Al Lo a0 OIS i i) (3 )k llia

Mg oS M sl "8 MLl ¢ e 4D pe alSil) Aland o (S "Jnil" g3 0 o ale (S

e lSial) 4 e adansd 53 2DASH Jad 2085 b

2o =" aclul Sla o S Cagu

ol 2 Arsa (e (onaly Lae 50 138 43I 4d) agdl () andaiind 4da g dlma dcbo SR 2a) iy Cogu a8 iy JEalN J3IA ()
(S 4 oy e saeJad Ll
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Direct vs. indirect speech acts il yuall g 3Ll 2SI Jlad)

We usually use certain syntactic structures. s s>l cuS il sale aadi

<S5l Structure aubl ) Function
1- Did you eat the Interrogative Question Direct
pizza? e
) i) JST a (bl g
_ . Command Indirect
2- Eat the pizza! Imperative il e
! \)'3.493\ XK JA‘ )A\ J\A..a\ ’ i
3- You ate the Declarative Statement Direct
pizza. yilia
1) JS) e ole s '

When an interrogative structure is used with the function of a question, it is described as a direct
speech act.

el DS G Gty 4l Algdin) 4dds g ae algdin) (il aa3is s
(¥ o) i il clsall (65 palall il adids 5 ¢ algiinl pin LeasS 53 ¢ )3l ISV da =) JsY) JEa) Jia)

When we don’t know something and we ask someone for the information. Can you ride a
bicycle?

fanl S i b e sbia oo Lo adid Jlais Lo el e Lad Gajas ¥ o
(Y 51 pni e addsa 0555 L Jlgadl)

Compare that utterance with Can you pass the salt? Here, we are not asking a question about
someone’s ability; we don’t use this structure as a question at all. We use it to make a request.

That is, we are using a syntactic structure associated with the function of a question, but in this
case with the function of a request. This is an example of an indirect speech act. Whenever one
of the structures is used to perform a function other than the one listed before, the result is an
indirect speech act.

Lo padd 338 Jon algdin b s Sl ¥ 4d) Jaadls L Solall e aodainsd] réuaall o L () )8
eL-.u\RJ}LL.‘;cJP,A\@A\%U)“M\M‘JLJMMU&Jk)ﬁuuﬁ)d\updbuuﬁ,
Ll aaly) pile e 2SI Jad IS JU) 13 3 alla dduda ol) il U (S5 ¢ J)gal) Adila 5 a5 gl S 5l addial (s
ile e SN Jad il culS 5 Callall Ak gy 8 43l (0 pilae (0 5So algfin¥) Jlgad) (uSe yilie e (5Ss Le ) el ks
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The utterance You left the door open has a declarative structure (=statement = direct speech act)
Y5 algdind Ul Y 7 site QL S 5 J5) il aDS=  peal = Blel g 5 Jany aleal) ¢ & sihe ) S 0 ghaaY
(7 sie Ll S 53 Ll U 3ua o pilae day pea 4xdle) dles Lail ¢ cilla

However, if you say this to someone who has just come in and it’s really hot outside, you would
want that person to close the door. You are not using the imperative structure. You are using a
declarative structure to make a request.

It's another example of an indirect speech act.

GYEY 5a¥) A8y yla aniind Lo Ul 138 o) Sl Bl ¢ 4o 3l Ja ¢z JAl Jla sall Jadlly al g Ul 5 5l Gadd sls 1)
e Ad ey QL J8 o8 sl il SIS s sall J gl o gl e A8 jlay Jimy)aie callal STy peail) Caandin oK1y QI
o A8yl Uil sy ) aie allal (S5 1 Ble 5 g eat bl ZUiSall Cuni J 585 Jiall e Lin A e ) ¢ o pilie
(ol

It is possible to have strange effects if one person fails to recognize another person’s indirect
speech act.

oaddll g malig maly A (53 () ol e A4 Hlay JA (adil sdalie Jua g (B Jh8 (il 1 ¢ aadle U L] oS 8
(il L) Gllla agd Lo AV

A visitor, carrying his luggage, looking lost, stops someone

VISITOR: Excuse me. Do you know where the Al-Bilad Hotel is?
A Sl (588 oyl it JA 3 el
PASSER-BY: Oh sure, | know where it is. (and walks away)
Sk (s IS iy ) 58 ol el aslilly o)

Here, the visitor uses (Do you know...?) a form normally associated with a question, and the
passer-by answers that question literally (I know... ).

direct speech act vs. indirect speech act “request”

Lo adde 0 g0 Jlgen dasi jo 330 QDS dapa e €L aat da )3 JUB Cumre SLAN 86 ladl aal 5 30 1) (g Adalaall Lia
ccya dadll ) Jlsld) e

el (olall aall a)) pdlie e WD AL 5 (AN Jlge) il 23S

Speech Act Theory (Book: How to Do Things with Words)(p A adaul 3 ¢LadY) Jai (S 1 Ui€) QMK ) o3 &y ylas

The word acts entails doing actions. Within a specific context, Austin (1962) states that “to say
something is to do something”.

alad sa Lo 5 Jll" Gl jamy ugl | Came Bl e AS s a5b (Hsa5) J=d) acts AwlS

E.g., If a minster declares two people husband and wife, they are now legally together in a way
that they were not before that utterance.

ealbi)AaSaal) OIS 38 I IS UG al e Ay phal) (53¢ s (3538 (S Lagdl ) A 39 £90 Lagd) Ot (193! 018 ey el daSanal) il 1 JUia
(O s5ie Laguad ¢ DS Jab any 138 g A2 9] 9 £90 Wtny granad JLiS clalS L) o8 5 gl g3l 52 g Jas Al iy ) AN She die aldl) DS 4
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utterance.

Therefore, when someone says “I'm sorry”, it is not only to state the fact that he or she feels sorry
but also to carry out the speech act of apologizing.

L OMe ) Jed 4DIS 8 Jeny Lyl S0 iy o pey A Jah (d 138 " Cad Ul G J iy s <llS

Austin distinguishes three different acts/forces in any given speech act. “Do you have a watch?”

1- The locutionary force: what is actually said; the production of the words that make up the
2- The illocutionary force: the intended meaning of the utterance (asking for the time)

3- The perlocutionary force: the effect achieved by the utterance on the hearer. (the action
created; the listener looking at the watch and tell the time)

((ABskiall) aMSl Jlas) () A shaand (Al )cibiua B [4Adlida Jlas) ¥ ) 23S Jlas ) Ciiia Giagl*

i gl) a8 A gy 4dlS ey de b Gllas Ja Al sy ity (ST g( bl Y Y Ui sl Taanl y cllal an padid g 28)"04c L @llas Ja"

(sl e Jlw oS35 ¢ Y 5l and Vg 2ty W de s Sl a4l i ()Y)

Ja laline g GlalS (e dlea | dclo @llad Ja JBall Jia 22080 585 Al LS e U85 a9 a8l 6l 8 Jlale a5 1 adl Jad )

Y sed alSiall el (5 8 sall iral) i) S8 e Jlay sed L aclu Gllad Ja Jliay dualy 13 ind a1 Jadl e Jad Y
il 4 e 6f) (1) AS olina Jhgadl, gl S el acle dlaie 3 aady (S Y ) Say 4cle daie da Jly

OF oy 4l s aniall (e dagd Lo aaisall 2y 5 Jadl) Jiand) ¢ aaiisad b sle 2D Ll Giay ga hail) o Sl Jed ¥

(<5

Lenglis Joan (A Lett) (g2 SO bl fY) JiS) agds (lie)

locutionary force

illocutionary act

perlocutionary force

Jadll Gaaiy Y ¢ agladl
production of the words

intended meaning

effect achieved

Do you have a watch=
yes | have one or no
locutionary force- —iuas ISl sl

asking for the time
< gl e Al g agh

tell the time
C\S}S\ e 3)._\';\
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To interpret the intended meaning, the hearer needs to consider the social context. Failing to do
that may lead the hearer to take out his watch and show it to the speaker possibly wondering why
the speaker would want to see his or her watch.

The main reason we use indirect speech acts seems to be that actions such as requests,
presented in an indirect way (Could you open that door for me?), are generally considered to be
more gentle or more polite in our society than direct speech acts (Open that door for me!).

B ol 3 gaah agh L3 Q¢ (il s A e Jelii (sf) e lain ) Gladl ) i o) el e 3 gl el il
?m@\é\ﬂd\%ﬁe&ﬁd\’a&d@} cd aclull o) Leiday g alSall Ao lu aatsal) any 38 aalid) ol (g3

(ol iy play ()5S allal g ¢ o plan il JladY Liaddil s asi ) e

(b ol i) o plad S a1 (o Jomdl clinainn (6 Gl s Asbgn 2k oS! Sl 8 Uiy )

e Uil Lo LY 130 ¢ An jone o ) (535 i3 pumie gy V5 Lo (i o5 Ui gl (g i Lo o A JSLEAD i)
oS Aol 3ocly 43 pgdy ke gl Tamlr il o Gl Uy Y 55 0 p8aa By

Sl il ey 5 5 oo Ay pla Ligh € (V) 1 oS 5 plan Ay ylay (il 5k i (S

( 3rile A8y Hhay daaai () (e ¢ daly JS) dga (35S0 sed panall (BB il e A8y Hlay ot o) V) e (S

44
Wanl) j¢i [ =4 ayosha faweas semantics and pragmatics GRR2 (g gd L0




Lecture 11

Politeness ((43Llll) S slall cuigill
8 _yilee A8 b i) 5 Sa8 iy sallly (Blety Lo el ¢ ale S agall g lainll) ) agihalie sie o AY) ae slilal (555 o)) 8)
4" face)

We can think of politeness in general terms as having to do with ideas like being tactful, modest,
and nice to other people. In the study of linguistic politeness, the most relevant concept is “face.”
Ol (alalY daen s pual sie (B ()5S Jie HISEYL Jadi je llaias Logee s oY) (o)) Gl ) aadalias

Man sl sa Al Y mall g sall) adgl) Al 8,

Your face, in pragmatics, is your public self-image. This is the emotional and social sense of self
that everyone has and expects everyone else to recognize.

LS Hus dlle mall lehaadls padd IS elaiaVly ahlell ulual) s ccludily allall clgial 5 s dlilee )y A dlea

(4ash omlad 5 S AV esa s ki sl sl 1 ) ey (S badl gl

If you say something that represents a threat to another person’s self-image, that is called a face-
threatening act. el 5 o sl 28 Al e ¢ geas o Al jeday g e (adll aagi 23S J8l a1

For example, if you use a direct speech act to get someone to do something (Give me that file!),
you are behaving as if you have more social power than the other person. If you don’t actually
have that social power (e.g. you’re not a military officer or prison warden), then you are
performing a face-threatening act.

Al e agelaia) 58 elles GbiS oyl 1305 o(alall Al iae] ) alsity Gaddl jilie 23S Caga g 3 i) Jaws o

G2 J28 058 G (O e ) (5 Se (S5 Al Jia) dpelaial 568 Gllai Y Slad il 1 sl

not Politeness e e wsluly 31, ¥ i el ol Joe Jae 3 J 55 )S)

(cor ) O yin sh Ul Jgiy alaa ) (31553 iac | 45Y Ui ol e i€ ) (uny 138

An indirect speech act, in the form associated with a question (Could you pass me that file?),
removes the assumption of social power.
Al sinl 5 il Calall calla @) agelaia) 5 8l Cadag L (Sl Slae ) @liSay Ja) Jl ey adadi pal) ¢ pilie soall 22USN Jladl 3

Politeness can be defined as showing awareness and consideration of another person’s face.

You’re only asking if it's possible. This makes your request less threatening to the other person’s
face. Whenever you say something that lessens the possible threat to another’s face, it can be
described as a face-saving act.

e DAY da s 4 angd B L JS8 LAY sl da Y aagd JB) 0 5Sy JS) g allal) s (S 131 alall caldas sl
4all bis face-saving act.

(oS oW1y 250 Jadng s Y1 an g e Gy el Lo JS ol sindy oy i AY) (e ol i U iny)

45
Wanl) j¢i [ =4 ayosha faweas semantics and pragmatics GRR2 (g gd L0




Politeness is about respecting the face of others . (o A osa g al fial sa Cuigill

e giving compliments

Positive pp!iteness: enhancing the o ysing terms that indicate friendliness
positive face of others e thanking them

ey - ol Aulal) 4alal) ° CJA]\ (‘.\At-LLQ‘
(433_\\) AanlaVl cp AV o s g o 35l gadlhall b Huds cilallaiae e\d';iu\
° (,A_)S.&

e Using markers of deference
Negative politeness is respecting the ® Using indirect speech act to make orders or

negative face of others requests
a5 padi s il 4l 4ty * @POlogizing
o A yal ¥l bl plaal il e Jadl) aladial
(e
o ,licY)

We have both a negative face and a positive face. (Note that “negative” doesn’t mean
“bad” here) Negative face is the need to be independent and free from imposition. Positive face
is the need to be connected, to belong, to be a member of the group.
™ aslal) Sl il G sy e 05 o ling el A gl (G S 0055 s in W) (s W5 (ol 4 ) el
"yl sl daine e ety ciuhal e il (5505 BRI (e 4 Sy

@&a\ﬁ%ﬁi)ﬂujﬁﬂbcLA.G\JA\U}SJ}&_\LG}AMGM‘Sﬂdgu‘}dm‘)ﬁg‘}@m:\u\ch&@@Y\‘&;)M
Al

So, a face-saving act that emphasizes a person’s negative face will show concern about
imposition (I’'m sorry to bother you...; | know you’re busy, but...). A face-saving act that
emphasizes a person’s positive face will show solidarity and draw attention to a common goal
(Let’s do this together...; You and | have the same problem, so...).

(oo Sl cJaiia il Casel) | dlale Y Caul Ul)agde sl Cigud Ll addll sy e 4s ) Lais
(M\umnﬂlgbz_}c;cuaucadwhcé)ﬁ)mq\&yeMY\uhjda@\@sM@@Y\MAA}M(;LAL&;
dale ) e call Ul A @8 L0l Jeli¥) as g madle o clld jelayg pigne Je Jordia a5 Janl) Jao ) Ao Jani Jla ayi:
dre &)U g lae Jand Liea A6 5l il 3 3 0 5K g Slea 5 Jadad 1S cili | clia (3 )51 (o zlial (<15 J gindia lil i
1A e ) il Lo () 555 Al 58 ) ¢ dalge Slal (A ane bl
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Ideas about the appropriate language to mark politeness differ substantially from one
culture to the next. If you have grown up in a culture that has directness as a valued way of
showing solidarity, and you use direct speech acts (Give me that chair!) to people whose culture
is more oriented to indirectness and avoiding direct imposition, then you will be considered
impolite. You, in turn, may think of the others as vague and unsure of whether they really want

something or are just asking about it (Are you using this chair?).
Aa Al g W piind s pudlaall Capaal) addiios 488 6 Cae je 5l 3L el Aol Lgae (AT (o Al ) saal 5 (e LR (DA

e s Sl 055 da Sl e )¢ Gpapdaly e o) (daele s da SE 85 (udge e (ot eV 3R (3 Bl

(om0 2555 ) 4

e 25 Ll ) e e el Jiag 138 1] s S hae ) e JSy 58 (ALl (o S () Canlinl 5 azdae (8 S iy

WLl (5 o5 e S a2ai O ) Jsis Y 13U I3 o Lim g ? ) IR 5 plaal) DS Alasial b e a5 ) A
3 JSdy o SU

Imagine that you need to borrow your friends’ car.
This kind of request will impose the negative face of your friend.

If you are not interested in being polite, you may simply use a declarative sentence
(I need to borrow your car) or imperative (Lend me your car). You can soften your imperative
by adding (please).

GRS 35 WW 5 P MR (PN B PP
(b Sihae Al gl g sl aga) dinal dudas g <Al (a5 Cogu llall e g sl 12a

(i ium A1) I g 0 el g (il al B Y zline Ul) dpmg jeail) aleal) podiod adabuy Loy ) cudeilly siga (S5 o 3
(oa) ) AalS ST Calaiy jaV) Aipa Caudd SliSayy
iy JY) o Bl (585 clia ling el Lapay | il i B Al g callall (8 ol sl 065 08 a5 jbus Ul a5
i o ke | dllini e

More polite: You can employ an apology (I’'m so sorry to impose...), an indirect request
(I was wondering if | could... or Would you mind if I...), or another marker of deference
(I know that this probably going to be a hassle for you...).
L gl 10 e daicle g SIS A QL) il e AUS AN G (L.l L) oY) Jantiod aobaiad 1 cnded S
(core A e i) (3 Ul) s Al 6l il

gl lae el Ay eV s ol () @b e JN Gl e aadiud i o) sl 5 cuded JISI (680 3
@) IS 4l el Jy G 1S, bl elde J81 5 dlae 51 ) Gl A8 o) @l jln ndaed gale 3 Jlal J8 5 ¢ el jla 3)
nied S8

Understanding how successful communication works is actually a process of interpreting
not just what speakers say, but what they “intend to mean.”

"osala g™ 13Le (K1 ¢ oISl Al gile T il ¢ e Aulac Jasalls g ealil) Joal 5l () 55 (oS agil
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:Exercise

1 - Someone stands between you and the TV set you’re watching, so you decide to
say one of the following. Identify which would be direct or indirect speech acts.

(a) Move! (c) Could you please sit down?
(b) You'’re in the way  (d) Please get out of the way

B pilie (sS85 Al st g ¢ 4l Ol jlal) o) J68 o) 88 o) elle | A g el (add ey ¢ g jal LS Laiy

ol
Jall
(a) Move! d i —  Imperative (') Direct

(c) Could you please sit down?  elliad e palai o) diSa Ja — request indirect dls el

(d) Please get out of the way. lxx cadl Gsew 1 — soft Direct  «uigd s ddlaly 5 il

2 - In these examples, is the speaker appealing to positive or negative face?

el o) "l " Sy Gaaiall 4 Jeall

(a) If you're free, there’s going to be a party at Yuri’s place on Saturday.
(Jsria o) (oamald 3 )il aleall ) ganV) Conl o gy dlia ) caads ald ) 13)
More polite L SiS)aleall st

(b) Let’s go to the party at Yuri’s place on Saturday. Everyone’s invited.
@A.;J\ Gcijsas_x.ul\ e)..gfdéal\ asj‘ i lied

(b) You’re in the way. &kl &<l — Statement g s — sl e indirect
: G alaall e cuded I T gV dlea 43 il

3 - Make this sentence more polite:luis JiS)adill 5 jlell Jaal

“Give me a double cappuccino, no whip.” s s ¢ eiis Ja kel
/ “Give me a double cappuccino Please , no whip.” or
J would Give me a double cappuccino, no whip or

J can you make me a double cappuccino, no whip
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Lecture 12

Metaphor is a figure of speech in which a word (or a phrase) is applied to an object or
action to which itis not literally applicable.

Lioa e BnY Lag e Jad o) QIS e il (obe ) RS 3 DS (e daad a1 e
(1S5 co e (A adans Haile W b jlae cpall bnda || el cllldin Gl clllile 3 Unie i i)

Many people think of a metaphor as a device reserved for the use of authors poets, but in
fact, metaphor is so embedded in our language that we do not notice most of it. It has a
prominent place in our daily conversation. We use metaphor when speaking about even
commonplace ideas like time. We treat time just like money, or other valuable materials.

#You're wasting my time. (85 sizua aiil

#This way will save you hours. 4cls &l ¢ (o gu 48 Hlall (53¢

#How do you spend time these days? ¢ asdl el y ol (s su as

#You need to budget your time. <l 5l 4xil jue ) zlias

#| have invested a lot of time in this project. g s dall & S8l G A0 U jaiin) 36

#He’s living on borrowed time. gLl Cdgll 8 (hmy g

YLl a8 e g sra sa @Bl 5l S1g ¢ el pa ) Cailsall (ool aading ) seae JleaS Balatu Y1 ) Gl Gl (e 20l
i gl) e Jalaih o gl) Jia 48 jidia IS8 e AIKH Ladie b jlaind) aadiud ¢ Uialae Juald 855 L LgilSa 5 jlaindld clld Jaadls

Aad i3 3 ga sl sl bl ae Jalacis LS

What is the basis for this metaphor? There is no similarity between time and money.
What brings these concepts together is the perception that time is like a valuable commaodity that
can be gained or lost.

Jia CBgl) () (run) el 52 o Sall (s3a alay 63 Jlall s 8 ) G it ol lin ad € 5 Jlaiaa) 12g] L) sala
il ) LeutSs (Al dipalll dagdl) ac Ll

Conceptual Metaphor (refers to the understanding of one idea in terms of another)
(Ji\@kma‘;n‘)ﬁegjé\ Jyr_'?) (M\&A@gﬁ}d\E}@A\ﬁJ%ﬁ\)@)ﬂ\ o x|

Examples from George Lakoff and Mark Johnson’s book “Metaphors We Live By” (1980)
"l (e (A Dl VI S 5 () s g & Jla s B 5SY 7 s (e ALl

1) ARGUMENT IS WAR. In everyday language, we say: Jsii gads 4 sall Wial & aladll s Jlaal)
© Your claims are indefensible. <lic adla jasila <l g Ll

© He attacked every weak point in my argument. 8 & muaa e 5l JS (B Geala

© His criticisms were right on target. (48l )l 4asila CulS asmall clalay) J<
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© I've never won an argument with him. 4z (i@l st o) J Ga ol
© He shot down all of my arguments. ! JS Jadul 4l

o 4l in 48 jaa Juani o Z8Eal 6 ¢ 4 Jiae Ty jlaiad LS e i)y JS Jaad) 431 gl (S dne caS) ol Jaa s
SSISH b 4 el o iVl saaiy Lo 138 ge 4dll gl cpal e IS Tl deaily (K15 i y¥) e a4 5 clanSy

The conceptual metaphor 4_Sall o jlainyl
2) TIME IS MONEY: o we spend time or save it; m we invest time, m budget time,
B and sometimes run out of time; m we can borrow time, @ or spare it.

4S 5 glp, < gl elac @Launcqs.gg“_éjl\ Olas) s ¢ 4 e il llg ¢ cad gl Ll Wleg ¢ Jldl sa Cid i

You may not consciously think of ideas as plants. The conceptual metaphor
473&.02\3_1»\ 31 ch)&u)ﬂ\dﬁau&\@\
3) IDEAS ARE PLANTS allows us to plant ideas, watch them grow, and hope that they come to
fruition.
alival alabad Jea G Ui 5 jleial) | L L Caladi (o)) il 5 saii U ISE saalie s JSEY) & ) ) Uibaansd clilal) Jia SSY)
((Jiaal) & W el ing Chgus yanl) gati LS Ao don Lging g 4y bl Jia

4) UNDERSTANDING IS SEEING. | see your point!
(2t e Caagd ) o) @i dga s 15 )) Sz = Jkal) b agdl

A spatial metaphor: involves the use of words that are primarily associated with spatial

orientation to talk about physical and psychological states.
danphall g aaill (ol gall Joa Sl 4gatial (o padll 4a o LSy Lealadto) Jayi 53 ; 4ilSall 3 i)

Emotions: happy is up sad is down
s A Llaa)Aalll Gt 1 GasalaY) :‘ ~~~~ -~
(W\ Jauy! LA ECRSTREN o \\\
\\\\ \l
A I’'m feeling up I'm feeling down 1
4
4 Pid
) & S e AR . e
4 7
< P
that boosted my spirits he fell in a depression AN
‘_,,_"'Ihw)mcl\ﬁ) u\.‘t.tsyl_ib_i)m\ R T et
my spirits rose her spirits sank P e o all gsalad)
(lsine Cuad ) Ll sina 28 2 D el s Jaxiddling
1 1
i i
You’re in high spirits he’s feeling low P
that gave me a lift F  the depths of depression
Al gina @by e b gl Cucadds)
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Physical health: health and life are up sickness and death are down

sa 0583 3l 5 asall 1 gl 4aal) 4t 0585 Sisall s Al
He's at the peak of health He's sinking fast :_‘_;.MS;JJ\;;u\;\J;'
asall b d A e AS ) g pa) A : Sl ol E
She come down with the flue L._._._._._._._._._._._i

She rose form the dead iy S e s

slall Cule Ll

He’s in top shape He’s feeling under the weather
A Jeal & dsa dle gy ply

The basis for these special metaphors seems to relate to our physical experience:
Unhappiness and ill health could mean tiredness and inactivity which involve being on one’s back
(physically down). In contrast, happiness and good health are often correlated with energy and
movement, which involve being on one’s feet (physically up).

(oML Lapd) e 5 shaii il 5 48 jall 5 a8lhl) o Ll sl sabaadl 5 4naall Jasi ji Lain (b Jind) Ll W5 eka

An idiom is an expression whose meaning cannot be derived directly from the string of
words that make up the expression.

sl ) aal) 55 ) LS e Alidi (g 8 ke Aa A% O (S A il a1 jlaiuY) mllaadll

(uh)lwdsuhawuw)yﬁ@my&\é\&Sww@uﬁdsd@:g;%a\'é)@cL;\)
| e (sima sl adlaiy Lo AdS S Liaa 5 58 ¢ 131 Ld (gl aall ) i LIS e ) golal) Livie o jally 6 (S

For example, e_obain¥) (g Lein GLa Jlie Cilalliadl (o8 Jaias g ki dgay (e

% if something is a piece of cake, (a3 Y Jem o) e el Ljlas) 4SS 5 dada (LY (jany
it is easy to do. If an idea is completely off the wall, ylaall 7z JA Ll s Alai€a 5 4ali 3 S8 (sl ey sl Jgudl (1
& you may not be able to make heads or tails of it.

sld (gl e e dla 5 (e 4l ) b jele S5y (il (e (o Caaglle @bl 5 (Jd Yy el Ll Y cled Haiile ) apdudl cilalall
dd ol el Ll a2y
#Whether you hit books or hit the sack, you aren’t actually physically hitting anything.

G (le @8l sl cled o838 | Sae a ill liadic aall (& Jad clal 0 oS Ladie ¢ Sl ) S) @
#Your hands are not physically involved in lending someone a hand (Joke: what if the person did
not return it?)

GAY) Baelisey 5 ) llaaall 138 ine Jaui 081 Llad & JLES Y ey Ua ¢ gall 2 ans

51
Wanl) j¢i [ =4 ayosha faweas semantics and pragmatics GRR2 (g gd L0




kick the bucket: to die 85 i« 4 BY Ljlae

fly off the handle: to lose one's temper 4lac) i g L ja « Luae Jaid) ¢ cagbac) ili b jlas

spill the beans: to give away a secret or a surprise

selalidll ol yud) &S 35 sle pud) B (ga ¢ dag e se Lgilaad s Ag el Liiady ¢l CRSS

red hearing: to introduce irrelevant arguments
¢ JBLI Gl sl cnaadl e Laiul) laline Jsa¥) JS5 1 (1wl 4S5 1 Al Ll iy Ganll 5)s ) jaall 4cliy)
dnana juall )l A

Although an idiom is semantically like a single word, it does not function like one. Thus, we
will not have a past tense *kick the bucketed. Instead, it functions to some degree as a normal
sequence of grammatical words , so that the past tense is form is kicked the bucket.

kick the bucketeddtixl! &Aggw\ g et llad (g ¢ aal g Jae ) g2 YW Ale saal 5 A 8 Vs albaiadl) o) (e a2 )l e
kick the bucketed - J<iiy palall Cua ¢ 4y il GlalSll e Judiie anda 7 53t JC8 Jesy L) @lld 0 Y
(¢ GAY oo Qi Lelee B8 JS (S5 2yl b 35 LS L) aai)

But there are other grammatical restrictions. : 43 sai 358

A large number of idioms contain a verb _and noun, but although the verb may be placed
in the past tense, the number of the noun can never be changed.

slaw) (je 220 5 ¢ ol a3l (B 0 oK ey Jadll o (e ae Bl e (Sl anl 5 Jats 288 Slallaiadll (e 0 2
b s o) cSar Y

We have spilled the beans, but not *spilled the bean * (4w 5 ¢ JE ) pml pudll ey ¢ W paldll culusl
* fly of the handles Lusae slaill ¢ cagdiac) ciild 1 Slae
*kick the bucketS )55 i« ag) $#Y L jlas
*put on good faces sk cu b 4l muaia Sixe da) al dcladlly el o Jlasidll day e an s @

*blow one’s topS  4al e ) adbact 388 Ljlae 11 4l el jad
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Exercise:
Idiom vs. Metaphor zlheadl &3 jlaiuyl o 4 jlia

An idiom is an expression where the meaning is not immediately apparent from a literal
interpretation of the words.

LIS jall o ol (pa 5 pblie Lawial g (pud 45€05 ¢ inal jund ga ¢ eellaaall

B\A}H 4&)5.‘;.1&\ ‘"55 oliza US"J c.m\j EY R B L\S); c);mﬁ \..\AJ Jh&\ k_i)mg;urg dfmj\ ‘Mk|ck the buCket

A metaphor is a comparison made between A and B, where you say A actually is B,
even though that's not literally true.

CLa mana Gl ST e g |8 s - o gl o T aniall Cp ad e 1o slaia)
ssinall e gl 5 (e (e (apiasi Jba
Llagdl o 8 58 ) agdl 1 (s Jlaall slina g Llaa (55 yhaay agdl 8 all slies JikThey showered him with gifts

gl 5ES s slall Cym o Ad e U llelal) BES S Liagd) BAS o Jad _.."QE'JHN:QSM#KM sl showered 4Sé
i (Lhaed 3 4y aniiall 5 olall 4piiall) !
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Lecture 13

The Co-Operative Principle
Ol T

i In order to interpret an utterance correctly, one need to follow some conversation rules
t  (our understanding of how language is used in particular situations to convey a message)
(bl il ige Vs 23505 4A1) oS Liagh ) didlaall ae) 8 (mns p L) ) plin ¢ pumn S WISH il
! sandl agiany ae alill Jelihy (oS Caay g i glatl) ol
| If 1 ask you :

. Would you like to go to a movie tonight?
| and you responded

| I have to study for an exam,

NG AT Y

L0 elesall 138 Laisadl ) e S ) 255
L J e o i cld

LAY 5 SIe e

t -l know that you are declining my invitation even though there is nothing in the literal meaning of the
i sentence that says no.

Y oa aleall a gl el o a2 ) e dcash el Jsed o) i el

| ((orilie e iy kg Ayl by ng ¢ LAY 5_Sl Lo 4llE ¢ Y Alile iny)

. As speakers of a language, we are able to draw inferences about what is meant but not actually said.

» Information that is conveyed in that way is implicature.
"y d@ucﬁ\}”@}% ‘@Mﬂjwﬁudﬁcm\ (‘;.m‘).a‘)ds.a ¢ azll u;ﬂ.lalq\s

The general overarching guideline for conversational interactions is often

called the co-operative principle.

O sl Tase andy Llle aglelail) cilislad) e aSas jads ale (K4

The co-operation principle:

Make your contribution appropriate to the conversation. Supporting this principle are four maxims,
often called the “Gricean maxims.” Quantity, Quality, Relation, and Manner.

o3 O 5 el Wl Cul ) el £ Dasall 138 ey ¢ Aalad Gaulie ()5S GledS

. ‘TUL-AY‘ 3 ABM\ 3 34\9@3‘ ¢ 47\-653\

1 The Quantity maxim: Make your contribution as informative as is required, but not more, or less,
than is required.

e sthall o B gl oaly 3 (sl ¢y ¢ g slnall e ghaally LS SHLAS el / 40l ol

(£ smmsall ol Lo 35 e LSS, lfinlae 14 Lgia G2 o 315 55 501 iny)

2 The Quality maxim: Do not say that which you believe to be false or for which you lack adequate
evidence. ‘éjl.ﬁ\ Gl cliaty Jo8i 5l ¢ Jala saldic] cﬁy\ Js8Y [ ase sl o) 32 all culd

3 The Relation maxim: Be relevant. 4k yia ()5S / 433l

4 The Manner maxim: Be clear, brief and orderly akii ¢ jpaida | gl g o 5< el sl
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We use hedges to show that we are concerned about following the maxims while being co-operative
participants in conversation.

Aalaall A @l L Leadie Cul ) 4nii Lo J ga Lialaial jleday)V ansill andins

—>Hedges are words or phrases used to indicate that we’re not really sure that what we’re saying is
sufficiently correct or complete.

o35 Ll ALalS Ll ad g Lae Slad (aSlia e Ll Ll il Lgadiind il e ) lalS o 2yl
. o)l (pSte e G e Cal

. »We can use sort of or kind of as hedges on the accuracy of our statements,
i as in His hair was kind of long
i -or The book cover is sort of yellow.
| - These are examples of hedges on the Quality maxim.
Ll 4B e il gl e g s a0k
L ikl g sl e S e e

P il 4l ) e IS

e il g easall el Jle culall s

Other examples would include the expressions that people sometimes put at the beginning of their
conversational contributions.

»As far as | know ...,
»» Now, correct me if I’'m wrong, but ...

»» I’'m not absolutely sure, but ...

Lifialaa L (saui] Gl g¥) (ams Lgeadins (il Huled e Jads 5 ja) i
Cayel L i

e 8 ¢ Wadl 13 maa ¢ V)

o OS¢ Ll TSl ol L)

Hence the difference between saying

»1 Jackson is guilty
»2 and | think it’s possible that Jackson may be guilty.

In the first version, we will be assumed to have very good evidence for the statement. (the Maxim of
Quality)

Js8 O Om B 2 L

¢Cpome OeSla

¢loae O gmSla (585 O OSaall (e e L

ase sl 5 easall D)l 3y 13 5 o) Lkl Jiba 5 (paSlie Ll (om iy <o gas I sY)

Flouting or Violating the Maxims <l sill &llgiil o) <

1 The Maxim of Quantity: <l <uls

A. How do | look? ¢ 84 sau cas

B. Your shoes are nice. Jwa <lilda

» Speaker A here would understand that the whole appearance is not that appealing which made
speaker B comment only on a small part of it.

Dt s Gle L Gle B il ¢ s e alSE o G Gaoatall 3 ) (e gl o I3 Caaaial)

(o dbie (s ) i) aulali e s 38 Jle 3y ol 05 50la e Ay ren e GlISE 4l g ¢ 4l B0l S L)
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» Another example is when someone asks A Jbs
Have you finished your homework and cleaned your room? felié & aaiig clial 5 (pe Cunglil Ja
and the reply is | have finished my homework. . (a5 Cugdl ¢ o)y oS

2 The Maxim of Quality requires that the statements used in a conversation have some factual basis.
Agad) g () 5S5 dalaall i) (585 o) allaty - age il gl Basaldl
» If we are in middle of the summer in Riyadh, for example, and | ask
s dls &5 Rl )l A Caall (el Caaline

What’s the weather like today? ¢ a5l sih sl

And someone responds It’s snowing as usual, S =8l J5 3 3 3 b gadd
(29 il S Uia gectpall Jan g A il J 58 o) QIS (ged clgad & Sia pe aBabia Wl e (585 () 2aly 03 gal) Cul)
» I would know that the statement is not intended to be true but perhaps irony or sarcasm.

o) el 5 Ay Gl sl (585 Sl daaia S5 Y 8 UL o B il

3 The Maxim of Relation: 42all cut

Failure to respect the maxim of relation creates an odd effect.

LG Ll iy 48Rl i i aac

For example, if someone asks you e 2l Jlus i

> Have you finished your homework yet? ¥ dial g Cugs) Ja

» and you responded It’s being raining a lot lately, hasn’t it? €13l | A 5a o) J haal Lgd) Joi 2 59
You violated the Maxim of Relation by not responding in a relevant way.

But by giving this response, you signal that you want to change the topic of conversation.
& sumsall iy o 3y 48l )5 )LE) Jamy )01 13a

4 The Maxim of Manner < sl culd

In the following exchange, B flouts the maxim of manner, thereby implying that an open discussion
of the ice cream is not desired:

A: Let’s get the kids something. JilY & jpasilies

B: Okay, but | veto I-C-E C-R-E-A-M-S. » s 0 & (s ) 058 Uyl (Kl g an

s __Exercise: (<l

© Which maxim does this speaker seem to be particularly careful about?
dn i 058 ) Al e g o3 Bl el

I may be mistaken, but | thought | saw a wedding ring on his finger.
4 o gl ala cdd S0 i ()5S) S

a) The Quantity maxim.

b) The Quality maxim. AU LAY cloaity J 485 ol ¢ ¢ Jals aliie) a8 6) J 583 [ ape gill ol 3asal) il
¢) The Relation maxim.

d) The Manner maxim.
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Axa) pa ALl Lecture 14

(Uad ol (Fglandy,, Sy ol YY) (B Ll Jia IS Lgudamy o (e BaSUia cund)
(Lels (b (Asaolady L) £ oa sl A gguad (4980 8 pualas (o) (o S Jlgun JS aic)

Review

(1) Semantics is:

a) The study of words origins.

b) The study of words meaning.

c) The study of how words are structured in sentences.

d) The study of meaning that a word or a sentence has in a particular context. ) e_palss

(2) Language speakers can say one thing and mean another thing through

a) The usual meaning of a word or a sentence.

b) What words mean in the dictionary.

c) The meaning that a word or a sentence has in specific contexts or circumstances. ) »_»alaa
d) What sentences mean without looking at the context.

(3) All the followings are examples of paralanguage except for:
a) Nodding ) o yalaa

b) Laughing

c) Giggling

d) Crying

(4) The meaning of a word is included in another word, In the case of:
a) Polysemy

b) Synonymy

c) Hyponymy Y s yialsa

d) Entailment

(5) What is the basic lexical relation between each pair of words listed here?
a) story & tale - Synonyms

b) heavy & light—> antonyms

c) fruit & banana -_hyponymy

d) peace & piece-> homophony

(6) What does “prototype” mean? lllustrate your definition with an example. 5 > _ralss
Prototype is about mental representation of meaning or categorization
Let's define a bird: has feathers, grown from an egg, can fly, makes sounds and so on
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(7) Waiting impatiently for food at a restaurant, the man said: “l can eat a horse right now.”
Explain the meaning of this quotation in some details.

the sentence | can eat a horse right now is These sentences are syntactically good, but
semantically odd. »=lae3

(8) Identify the semantic roles of the seven noun phrases in this sentence: 4 » yalss
With her new golf club, Fatimah whacked the ball from the woods to the grassy area near the hole
and she suddenly felt unbeatable. </ Jaff (a 58l ol

Agent= Fatimah
theme = whacked

Whacked= Instrument
new golf=Location
Experiencer= Fatimah

Source = woods

Goal= grassy area near the hole

(9) Use semantic features to explain the reason these sentences sound odd. 3 > yxalss
a) The chicken studies mathematics.

chicken = make this sentence semantically odd

b) The train will marry Jessica.

Train = make this sentence semantically odd

(10) Tell which of the following opposites are gradable, non-gradable, or reversive. °_<alaa 2
a) fill it / empty it = reversive

b) absent / present - reversive

c) old / young = gradable

d) fair / unfair

(11) What kind of inference is involved in interpreting each of these utterances? o »alsc6
a) Teacher: You can borrow my Shakespeare.

b) Waiter: The ham sandwich left without paying.

c) Nurse: The hernia in room 5 wants to talk to the doctor.

d) Dentist: My eleven4hirty canceled so | had an early lunch.

(12) Which of these utterances contain “performative verbs” and how did you decide?
a) | apologize.

b) (2)1 bet you S20.

c¢) She won the bet.

d) | drive a Mercedes.

e) You must have a lot of money. f) | testify there is no God but Allah...
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(13) What would you call two or more words that often go together, as in the word blond usually
going with hair? A s yxlas

Give two more examples to illustrate

fast train & make a mistake

(14) The Co-Operative Principle was suggested by the philosopher? )Y » palas
Gricean

| (15) Each of B’s utterances below would probably flout (ignore) one of the four maxims. ¥ & salaa
| Say what maxim the speaker is flouting, and give a possible reason for this ignorance.
A. Do you want to go to the movies tonight?
. B. My little sister is coming for a visit.
. The maxim flouted? A possible reason?
A. Where are you going?
| B.Out.

maxim flouted? A possible reason?
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® a. meaning and its development.
b. the science of meaning.
¢. meaning in a particular context.
d. the manipulation of language.

1. In 1894, in a paper entitled: “Reflected meanings: a point in semantics,” the term “Semantics” was used to refer to:

a. Sense deals with relationships inside the language.
b. Reference deals with relationships between the language and the world.

® ¢. The referent of an expression is an abstraction in the mind of language users.
d. Every meaningful expression has sense, but not necessarily reference.

2. Which of the following statements is NOT correct when we compare sense and reference?

3. In the collocation “blond hair”, the type of collocational restriction is:
a. based on meaning
b. based on range
c. based on reference
¢ d. based on neither meaning nor range

S

1. How do the synonyms “gentleman/chap” differ?
a. Each belongs to different dialects.
¢ b. Each belongs to different styles.
c. Each has different emotive or evaluative meanings.
d. They are both collocationally restricted to different environments.

2. Choose the type of antonymy found in the pair “married/unmarried”.
® a. binary antonymy
b. converses
c. relational opposites
d. gradable antonymy

3. Which of the following is an example of homonymy?
a. earth (our planet vs. soil)
® b. bank (financial institution vs. the side of a river)
c. tail (of a coat vs. of an animal)
d. fork (in a road vs. instrument for eating)
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1. ‘| promise to stop doing that.” What is the type of the speech act in this utterance?
a. constative
* b. explicit performative
c. implicit performative
d. neither constative nor performative

2. What is the speech act that is not always intended by the speaker?
a. locutionary act
b. illocutionary act
* ¢. perlocutionary act
d. commissive act

3. 'l swear to be there promptly.” What is the type of illocution in this utterance?
a. direct directive illocution
b. indirect directive illocution
* ¢. direct commissive illocution
d. indirect commissive illocution

4, If a speaker is NOT being ‘truthful’ when engaged in a conversation, which Maxim of Grice is he violating?
a. The Maxim of Quantity
® b. The Maxim of Quality
c. The Maxim of Relation
d. The Maxim of Manner

ol e 4y cudd alginle tad of Jslesi ¥, ade ey sl Uad (g) ) pualadd) 05 53 JaS) aaad dllae e Gadldll e 33

e 2SI 500 e ) 5 ) Abe siadia 1)
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